
MATHS

BOOKS - RD SHARMA MATHS (ENGLISH)

SURFACE AREAS AND VOLUMES

Others

1. Find the value of 
 , if the point P (2,4) is equidistant from the

points 
and .

Watch Video Solution

k

A(5, k) B(k, 7)

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_pH2zePLDDauD


2. A solid sphere of radius 10.5 cm is melted and recast into

smaller
 solid cones, each of radius 3.5cm and height 3cm. Find

the number of cones so
formed. 

Watch Video Solution

(Useπ = )
22

7

3. From a rectangular sheet of paper ABCD with AB=40CM and

AD=28cm, a semi
 circular portion with BC as diameter is cut off.

Find the area of the
remaining paper. 

Watch Video Solution

(Useπ = )
22

7

4. A card is drawn at random from a well shuffled pack of 52

playing cards. Find the probability of getting (1)neither a red

card nor a queen and (2) a face card

https://dl.doubtnut.com/l/_k7PlY11TROAj
https://dl.doubtnut.com/l/_bNcSn4D5UGpM
https://dl.doubtnut.com/l/_eoVmP4IsFNpL


Watch Video Solution

5. In the given figure, a triangle  is drawn to circumscribe a

circle of radius   such that segments RS and QS into which

QR is divided by the point of contact S are of lengths  and

 respectively. If the area of  is  , then find

the sides PQ and PR.

Watch Video Solution

PQR

√3 cm

5cm

3cm ΔPQR 10√3 cm2

6. Draw a triangle ABC with BC=7cm, 

Then construct another triangle, whose sides are 
 times the

corresponding sides of triangle 

Watch Video Solution

∠B = 450and∠C = 600.

3

5

ABC.

https://dl.doubtnut.com/l/_eoVmP4IsFNpL
https://dl.doubtnut.com/l/_HuaUQjQqkCvr
https://dl.doubtnut.com/l/_38rXAeSLS9bb


7. Find the sum of all multiples of 7 lying between 500 and 900.

Watch Video Solution

8. Solve the following quadratic equation for 

Watch Video Solution

x.

x2 − 4ax − b2 + 4a2 = 0

9. A solid right circular cone is cut into two parts at the middle

of its
 height by a plane parallel to its base. The ratio of the

volume of the
smaller cone to the whole cone is:

A. (A) 1:2

B. (B) 1:4

https://dl.doubtnut.com/l/_FxST09gSf1qx
https://dl.doubtnut.com/l/_lw1vEqzI0enb
https://dl.doubtnut.com/l/_72OWvXONQFSV


C. (C) 1:6

D. (D) 1:8

Answer: null

Watch Video Solution

10. In the figure, AB is a diameter of the circle with centre O and

OA = 7cm. Find the area of the shaded region

Watch Video Solution

11. A golf ball has diameter equal to 4.2cm. Find its capacity.

Watch Video Solution

https://dl.doubtnut.com/l/_72OWvXONQFSV
https://dl.doubtnut.com/l/_oW41LmXPJ7b7
https://dl.doubtnut.com/l/_WnBCVc1WTUYb


12. A bucket is in the form of a frustum of a cone and holds 15.25

litres
 of water. The diameters of the top and bottom are 25cm

and 20cm respectively.
 Find its height and area of tin used in its

construction.

Watch Video Solution

13. A shuttle cock used for playing badminton has the shape of a

frustum of a cone mounted on a hemisphere. The diameters of

the ends of the frustum are 5 cm and 2 cm; the height of the

entire shuttle cock is 7 cm. Find the external surface area.

Watch Video Solution

14. The radius of the base of a right circular cone of semi-vertical

angle 
 is 
 . Show that its volume is 
 
 and curvedα r πr31

3
cot α

https://dl.doubtnut.com/l/_d95y8STR7hKT
https://dl.doubtnut.com/l/_a3jhuEI3KqyK
https://dl.doubtnut.com/l/_LAydCSkTQKni


surface area is 
 


Watch Video Solution

πr2 cos es α.

15. A container, opened from the top and made up of a
 metal

sheet, is in the form of a frustum of a cone of height 16 cm with

radii
of its lower and upper ends as 8 cm and 20 cm, respectively.

Find the cost of
the milk which can completely fill the container,

at the rate of Rs 20 per litre.

Watch Video Solution

16. A tent
consists of a frustum of a cone capped by a cone. If the

radii of the ends of
 the frustum be 13 m and 7 m, the height of

the frustum be 8 m and the slant
height of the conical cap be 12

m, find the canvas required for the tent.

https://dl.doubtnut.com/l/_LAydCSkTQKni
https://dl.doubtnut.com/l/_nwVAB5bkzsju
https://dl.doubtnut.com/l/_KVBlklXEvcIX


Watch Video Solution

17. The radius of the base of a right circular cone is r. It is cut by a

plane parallel to the base at aheight h from the base. The slant

height of the frustum is . Show that the volume

of13the frustum is .

Watch Video Solution

√h2 + r24

9

πr2h
13

27

18. A right circular cone is divided by a plane parallel to its base

in two
equal volumes. In what ratio will the plane divide the axis

of the cone?

Watch Video Solution

https://dl.doubtnut.com/l/_KVBlklXEvcIX
https://dl.doubtnut.com/l/_m62OfwJQeZZL
https://dl.doubtnut.com/l/_BhSK2eEXVBMC


19. If a cone of radius 10cm is divided into two parts by drawing a

plane
 through the mid-point of its axis, parallel to its base.

Compare the volumes
of the two parts.

Watch Video Solution

20. A solid cylinder of diameter 12cm and height 15cm is melted

and recast
 into toys with the shape of a right circular cone

mounted on a hemisphere of
radius 3cm. If the height of the toy

is 12cm, find the number of toys so
formed.

Watch Video Solution

21. A kite is flying at a height of 30m from the ground. The length

of
 string from the kite to the ground is 60m. Assuming that

https://dl.doubtnut.com/l/_h9ayYbtKpvfO
https://dl.doubtnut.com/l/_YiRVDL25wrl6
https://dl.doubtnut.com/l/_k525HdBIYlFU


three is no slack in
 the string, the angle of elevation of the kite

at the ground is:
 
(b) 
(c) 
(d) 

Watch Video Solution

450 300 600 900

22. The distance of the point 
from the x-axis is :
 
(b)


(c) 4
(d) 5

Watch Video Solution

( − 3, 4) (a)3

−3

23. Find the value of 
 for which the roots of the equation


are equal.

Watch Video Solution

p

px(x − 2) + 6 = 0,

24. How many two–digit numbers are divisible by 3?

https://dl.doubtnut.com/l/_k525HdBIYlFU
https://dl.doubtnut.com/l/_fBysDzs30syh
https://dl.doubtnut.com/l/_T1swPv1ZiF1G
https://dl.doubtnut.com/l/_pTqKj44M4vgy


Watch Video Solution

25. In figure,a right triangle ABC,circumscribes a circle of radius

r.If AB and BC are of length 8 cm and 6 cm respectively, find the

value of r.

Watch Video Solution

26. From each corner of a square of side 4 cm a quadrant
 of a

circle of radius 1 cm is cut and also a circle of diameter 2 cm is

cut
as shown in Fig. 12.23. Find the area of the remaining portion

of the square.

Watch Video Solution

https://dl.doubtnut.com/l/_pTqKj44M4vgy
https://dl.doubtnut.com/l/_2d5s6tHXIobP
https://dl.doubtnut.com/l/_fdbf6IjSrM0R


27. Find the area of the shaded region in Fig. 12.21, if
 ABCD is a

square of side 14 cm and APD and BPC are semicircles.

Watch Video Solution

28. A hemispherical bowl of internal radius 9cm is full of water.

Its
contents are emptied in a cylindrical vessel of internal radius

6cm. Find the
height of water in the cylindrical vessel.

Watch Video Solution

29. The angles of the depression of the top and bottom of the

tower is seen from the top of a  cliff are  and 

respectively. Find the height of the tower.

Watch Video Solution

60√3 45α 60α

https://dl.doubtnut.com/l/_1NPQ8tZNOjYb
https://dl.doubtnut.com/l/_LCaQSeCB990Y
https://dl.doubtnut.com/l/_befKCvFmZLdS


30. Find the coordinates of a point P, which lies on the line

segment joining the points A(-2,-3) and B(2. -4) such that AP=

AB.

Watch Video Solution

3

7

31. . If the radii of the circular ends of a conical bucket, which is

16 cm high, are 20 cm and
 8 cm, find the capacity and total

surface area of the bucket.
[Use pi= 22/7]

Watch Video Solution

32. A cylindrical hole of diameter  is bored through a

cuboidal wooden block with side  Find the volume of the

object so formed ( )

30cm

1meter

π = 3.14

https://dl.doubtnut.com/l/_befKCvFmZLdS
https://dl.doubtnut.com/l/_LJTvtQrh2Zwb
https://dl.doubtnut.com/l/_EAIJEj8oeVom
https://dl.doubtnut.com/l/_sSBoDaw2zQE2


Watch Video Solution

33. The
 perimeters of the ends of a frustum of a right circular

cone are 44 cm and 33
cm. If the height of the frustum be 16 cm,

find its volume, the slant surface area
and the total surface area.

Watch Video Solution

34. The radii of the circular ends of a frustum of height 6cm are

14cm and
 6cm respectively. Find the lateral surface area and

total surface are of the
frustum.

Watch Video Solution

https://dl.doubtnut.com/l/_sSBoDaw2zQE2
https://dl.doubtnut.com/l/_ZT42utmRVn9z
https://dl.doubtnut.com/l/_v8HCt7acLuC4


35. A toy is in the form of a hemisphere surmounted by a right

circular
cone of the same base radius as that of the hemisphere.

If the radius of the
base of the cone is 21cm and its volume is 2/3

of the volume of the
 hemisphere, calculate the height of the

cone and the surface area of the toy.


Watch Video Solution

(Useπ = ).
22

7

36. An iron
 pole consisting of a cylindrical portion 110 cm high

and of base diameter 12
cm is surmounted by a cone 9 cm high.

Find the mass of the pole, given that 
 of iron has
 8 gram

mass approximately. (Use 
)

Watch Video Solution

1 cm3

π = 355/115

https://dl.doubtnut.com/l/_QqXw4LihhQog
https://dl.doubtnut.com/l/_h5l5Guu4xNRG


37. The largest cone is curved out from one face of solid cube of

side 21 cm find the volume of the remaining solid.

Watch Video Solution

38. The largest possible sphere is carved out of a wooden solid

cube of
 side 7cm. Find the volume of the wood left.

Watch Video Solution

(Useπ = ).
22

7

39. The height of a right circular cone is trisected by two planes

drawn
parallel to the base. Show that the volumes of the three

portions starting from
the top are in the ratio 1:7:19.

Watch Video Solution

https://dl.doubtnut.com/l/_mFs2j1XM1i52
https://dl.doubtnut.com/l/_nEOF6N2HeZgy
https://dl.doubtnut.com/l/_VMYeuuOQDgbE


40. A Hollow cone is cut by a plane parallel to the base and

upper portion is removed. If the curved surface of the remainder

is 8/9 of the curved surface of the whole cone; find the ratio of

the line-segment into which the cone's altitude is divided by the

plane.

Watch Video Solution

41. If the numbers 
 are in AP., find the

value of 

Watch Video Solution

x − 2, 4x − 1and5x + 2

x.

42. Two tangents 
 are drawn from an external point 


 to a circle with centre 
 Prove that 
 is a cyclic

PAandPB

P O. AOBP

https://dl.doubtnut.com/l/_VMYeuuOQDgbE
https://dl.doubtnut.com/l/_D81yDfOtncDS
https://dl.doubtnut.com/l/_BIbYe6B8A5Dd
https://dl.doubtnut.com/l/_RUGKIyVNDllb


quadrilateral.

Watch Video Solution

43. In Figure, there are shown sectors of two concentric circles of

radii
 7cm and 3.5cm. Find the area of the shaded region.

Watch Video Solution

(Useπ )
22

7

44. How many sphereical lead shots each 4.2cm in diameter can

be obtained
 from a rectangular solid of lead with dimensions

66cm, 42cm, 21cm. 

Watch Video Solution

(Useπ = )
22

7

https://dl.doubtnut.com/l/_RUGKIyVNDllb
https://dl.doubtnut.com/l/_UeaLmcG3R3U1
https://dl.doubtnut.com/l/_i7mxFr1p7dzX


45. Point 
is one of the two points of trisection
of the

line segment joining the points 
 near

to 
. Find the coordinates of the other point of trisection.

Watch Video Solution

P (5, − 3)

A(7, − 2)andB(1, − 5)

A

46. Show that the point 
 lies on the line segment

joining the points 
and 

Watch Video Solution

P ( − 4, 2)

A( − 4, 6) B( − 4, − 6).

47. Two dice are thrown at the same time. Find the probability of

getting
different numbers on both dice.

Watch Video Solution

https://dl.doubtnut.com/l/_OmyAy7Y67mKy
https://dl.doubtnut.com/l/_ecDGI1julnp7
https://dl.doubtnut.com/l/_IJZwgM4aDVN1
https://dl.doubtnut.com/l/_sSVwDshtXbRh


48. A natural number, when increased by 12, becomes equal to

160 times its reciprocal.
Find the number.

Watch Video Solution

49. Find the sum of the integers between 100 and 200 that are

divisible by
9.

Watch Video Solution

50. In the given figure, two tangents PQ and PR are drawn to a

circle with centre C from an external point P, Prove that

Watch Video Solution

∠QPR = 2∠OQR.

https://dl.doubtnut.com/l/_sSVwDshtXbRh
https://dl.doubtnut.com/l/_r54p2KSX7tjG
https://dl.doubtnut.com/l/_aaGX36EhHDYb


51. Find the roots of the following quadratic equation:

Watch Video Solution

x2 − x − = 0
2

5

3

5

52. If the circumference of a circle is equal to the perimeter of a

square
then the ratio of their areas is:
(a)22:7       (b)  14:11      
(c) 

7:22          (d) 
7:11

Watch Video Solution

53. The height of a cone is 60cm. A small cone is cut off at the

top by a
 plane parallel to the base and is volume is 
 the

volume of original cone. The height from the base at which the

section is made is:
(a) 15cm (b)
30cm (c) 45cm (d)
20cm

W t h Vid S l ti

th
1

64

https://dl.doubtnut.com/l/_21tvE7jECJLf
https://dl.doubtnut.com/l/_JyR5D7xjpuIQ
https://dl.doubtnut.com/l/_myrdXnynDHwF


Watch Video Solution

54. To draw a pair of tangents to a circle which are inclined to

each other
at an angle of 
 it is required to draw tangents

at end points of those two radii of the
circle, the angle between

which should be:
 
(b) 
(c) 
(d) 

Watch Video Solution

1000,

1000 500 800 2000

55. Two tangents making an angle of 
 with each other are

drawn to a circle of radius 6cm, then the length of
each tangent

is equal to
 
cm (b)
6 
cm (c)
 
cm (d)
2 
cm

Watch Video Solution

1200

√3 √3 √2 √3

https://dl.doubtnut.com/l/_myrdXnynDHwF
https://dl.doubtnut.com/l/_DyPwlxJ92NGx
https://dl.doubtnut.com/l/_7aR3tsnz9QYZ


56. In the given figure, two tangents PQ and PR are drawn to a

circle with centre O from an external point P, Prove that

Watch Video Solution

∠QPR = 2∠OQR.

57. If radii of the two concentric circles are 15cm and 17cm, then

the
length of each chord of one circle which is tangent to other

is:
  8cm       (b)  
16cm   (c)  30cm   
(d) 17cm

Watch Video Solution

58. The sum of first five multiples of 3 is:
   45         (b)  
 65       (c) 

75              
(d)   90

Watch Video Solution

https://dl.doubtnut.com/l/_pFt3IZinOiI8
https://dl.doubtnut.com/l/_5A73vGPvAsbH
https://dl.doubtnut.com/l/_vUrCQazME3Oe


59. Which of the following equations has the sum of its roots as

3? (a)  (b)  (c) 

 (d) 

Watch Video Solution

x2 + 3x − 5 = 0 −x2 + 3x + 3 = 0

√2x2 − x − 1 = 0
3

√2
3x2 − 3x − 3 = 0

60. A metallic hemisphere is melted and recast in the shape of a

cone with
the same base radius R as that of the hemisphere. If 

is the height of the cone, then write the value of 

Watch Video Solution

H

H /R.

61. A drinking glass is in the shape of the frustum of a cone of

height
14cm. The diameters of its two circular ends are 4cm and

2cm. Find the
capacity of the glass. (Useπ = )
22

7

https://dl.doubtnut.com/l/_vUrCQazME3Oe
https://dl.doubtnut.com/l/_kMJmOkbctTPK
https://dl.doubtnut.com/l/_AW0MSir4g84a
https://dl.doubtnut.com/l/_ORjlsgVsW4Ft


Watch Video Solution

62. Prove that the length of the tangents drawn from an external

point to a circle are equal.

Watch Video Solution

63. The angles of elevation and depression of the top bottom of

a
light-house from the top of a 60m high building are 

respectively. Find
the difference between the heights of the light

house and the building.
 the distance between the light-house

and the building.

Watch Video Solution

300and600

https://dl.doubtnut.com/l/_ORjlsgVsW4Ft
https://dl.doubtnut.com/l/_1qifa0PlTQ3Z
https://dl.doubtnut.com/l/_mkx9ObarrrKB


64. A military ten of height 8.25m is in the form of a right circular

cylinder of base diameter 30m and height 5.5m surmounted by

right circular
 cone of same base radius. Find the length of the

canvas use in making the
 tent. If the breadth of the canvas is

1.5m.

Watch Video Solution

65. All kings, queens are aces are removed from a pack of 52

cards. The
 remaining cards are well shuffled and then a card is

drawn from it. Find the
 probability that the drawn card is :
 a

black face card        (b)  a red card.

Watch Video Solution

https://dl.doubtnut.com/l/_RkpfNqBeusU9
https://dl.doubtnut.com/l/_AnXIgxdKVNZl


66. If the points 
 are collinear,

show that 

Watch Video Solution

A(x, y), B(3, 6)andC( − 3, 4)

x − 3y + 15 = 0

67. Find the common difference of an A.P. whose first term is 5

and the sum
 of its first four terms is half the sum of the next

four terms.

Watch Video Solution

68. In a flight of 2800km, an aircraft was slowed down due to bad

weather.
 Its average speed is reduced by 100km/h and time

increased by 30 minutes.
Find the original duration of the flight.

Watch Video Solution

https://dl.doubtnut.com/l/_RQ0yKfE2nXtv
https://dl.doubtnut.com/l/_bCRSdemJLUzj
https://dl.doubtnut.com/l/_V9Gk8RqpG4iu


69. A conical vessel of radius 6cm and height 8cm is completely

filled with
water. A sphere is lowered into the water and its size

is such that when it
touches the sides, it is just immersed . What

fraction of
water over flows?

Watch Video Solution

70. An agriculture field is in the form of a rectangle of length

20m width
 14m. A 10m deep well of diameter 7m is dug in a

corner of the field and the
earth taken out of the well is spread

evenly over the remaining part of the
 field. Find the rise in its

level.

Watch Video Solution

https://dl.doubtnut.com/l/_V9Gk8RqpG4iu
https://dl.doubtnut.com/l/_F0NalC0UxRfr
https://dl.doubtnut.com/l/_GDvzdLmKD10s


71. Solid cylinder of brass 8m high and 4m diameter is melted

and recast
 into a cone of diameter 3m. Find the height of the

cone.

Watch Video Solution

72. A solid iron rectangular block of dimensions 4.4m, 2.6m and

1m is cast
 into a hollow cylindrical pipe of internal radius 30cm

and thickness 5cm.
Find the length of the pipe.

Watch Video Solution

73. A led pencil consists of a cylindner of wood with a solid

cylinder of graphite filled into it. the diameter of pencil is 7mm,

the diameter of graphite is 1 mm and the length of the pencil is

10cm. Calculate the weight of the whole pencil, if the specific

https://dl.doubtnut.com/l/_9sx0y6bhIJly
https://dl.doubtnut.com/l/_n8W806ZjjCOG
https://dl.doubtnut.com/l/_Dyya3DBYda0p


gravity of the wood is  and that of graphite is 

Watch Video Solution

0.7
gm

(cm)3

2.1
gm

(cm)3

74. Find the maximum volume of a cone that can be carved out

of a solid
hemisphere of radius r.

Watch Video Solution

75. Water is flowing at the rate of 3km/hr through a circular pipe

of 20cm
internal diameter into a circular cistern of diameter 10m

and depth 2m.  In how much time will the cistern be filled?

Watch Video Solution

https://dl.doubtnut.com/l/_Dyya3DBYda0p
https://dl.doubtnut.com/l/_VnhGBweLZJQs
https://dl.doubtnut.com/l/_FNrbEv9vAVRs


76. Water flows at the rate of 10 meter per minute through a

cylindrical
pipe having its diameter as 5mm. How much time will

it take to fill a conical
vessel whose diameter of base is 40cm and

depth 24cm?

Watch Video Solution

77. 21 glass spheres, each of radius 2cm are packed in a cuboidal

box of
internal dimensions 
and, then the box is

filled with water. Find the volume of water filled
in the box.

Watch Video Solution

16cmx8cmx8cm

78. The slant height of a frustum of a cone is 4 cm and the

perimeters (circumference) of its circular ends are 18 cm and 6

cm. Find the
curved surface area of the frustum.

https://dl.doubtnut.com/l/_dFPkE6HYFV1x
https://dl.doubtnut.com/l/_H98HcjRSXIdy
https://dl.doubtnut.com/l/_3UErlXqX2cVr


Watch Video Solution

79. Prove that the length of the tangents drawn from an external

point to a circle are equal.

Watch Video Solution

80. A well of inner diameter 14 m is dug 12 m deep. The earth

taken out of it has been spread evenly all around it in the shape

of a circular ring of width 7 m to form an embankment. Find the

height of the embankment.

Watch Video Solution

https://dl.doubtnut.com/l/_3UErlXqX2cVr
https://dl.doubtnut.com/l/_SEpk27dMNNBm
https://dl.doubtnut.com/l/_3G1mC6gybKHt


81. If the 
term of an A.P., is 
then the sum of its first

three terms is
(a) 6n+3 (b)
15 (c) 12 (d) 21

Watch Video Solution

nth (2n + 1),

82. A tangent PQ at a point P of a circle of radius 5 cm meets a

line through the centre O at a point Q so that .

Length PQ is :

(A) 12 cm (B) 13 cm (C) 8.5 cm (D) cm.

Watch Video Solution

OQ = 12cm

√119

83. From a point on
 the ground, the angles of elevation of the

bottom and the top of a transmission
tower fixed at the top of a

20 m high building are 
and 
respectively. Find the height

of the tower.

45° 60°

https://dl.doubtnut.com/l/_cIrdL1oZLQuh
https://dl.doubtnut.com/l/_jcFumLF2YEvD
https://dl.doubtnut.com/l/_lwSAoNDF2EuP


Watch Video Solution

84. The roots of the quadratic equation 
 (a)


(b) 
(c) 
(d) 

Watch Video Solution

2x2 − x − 6 = 0

−2,
3

2
2, −

3

2
−2, −

3

2
2,

3

2

85. Find the area of the quadrilateral 
 , in which 

Watch Video Solution

ABCD

AB = 7cm, BC = 6cm, CD = 12cm, DA = 15cmandAC = 9cm

86. The circumference of a circle is 22cm. The area of its quadrant


is:
 
(b) 
(c) 
(d) 

Watch Video Solution

( ∈ cm2)
77
2

77
4

77
8

77
16

https://dl.doubtnut.com/l/_lwSAoNDF2EuP
https://dl.doubtnut.com/l/_kvQ6AERS0sZ5
https://dl.doubtnut.com/l/_eOIUQRhTFW6O
https://dl.doubtnut.com/l/_FzySyrpEQuvP


87. A hemisphereical bowl of internal diameter 36cm contains a

liquid. This
 liquid is to be filled in cylindrical bottles of radius

3cm and height 6cm.
How many bottles are required to empty.

Watch Video Solution

88. How many sphereical lead shots each 4.2cm in diameter can

be obtained
 from a rectangular solid of lead with dimensions

66cm, 42cm, 21cm. 

Watch Video Solution

(Useπ = )
22

7

89. 2 cubes each of volume 
are joined
end to end. Find

the surface area of the resulting cuboid.

Watch Video Solution

64  cm3

https://dl.doubtnut.com/l/_FzySyrpEQuvP
https://dl.doubtnut.com/l/_F2Z7osqZQMhU
https://dl.doubtnut.com/l/_H7KeaI4Dwj9a
https://dl.doubtnut.com/l/_Lx9laKiR8zhU


Watch Video Solution

90. The diameter of a metallic sphere is 6cm. The sphere is

melted and
 drawn into a wire of uniform cross-section. If the

length of the wire is 36m,
find its radius.

Watch Video Solution

91. Three cubes whose edges measure 3cm, 4cm and 5cm

respectively to form a
 single cube. Find its edge. Also, find the

surface area of the new cube.

Watch Video Solution

92. A cone of height 24 cm and radius of base 6 cm is
made up of

modelling
 clay. A child reshapes it in the form of a sphere.
 Find

https://dl.doubtnut.com/l/_Lx9laKiR8zhU
https://dl.doubtnut.com/l/_jH1Bfrrvldyj
https://dl.doubtnut.com/l/_GMeBHZVSYuuM
https://dl.doubtnut.com/l/_WEHJMPh74eSo


the radius of the sphere.

Watch Video Solution

93. The diameter of a metallic sphere is 6cm. The sphere is

melted and
 drawn into a wire of uniform cross-section. If the

length of the wire is 36m,
find its radius.

Watch Video Solution

94. A solid sphere of radius 3cm is melted and then cast into

small
spherical balls each of diameter 0.6cm. Find the number of

balls thus
obtained.

Watch Video Solution

https://dl.doubtnut.com/l/_WEHJMPh74eSo
https://dl.doubtnut.com/l/_dS7kyPfhKEJ2
https://dl.doubtnut.com/l/_Io2J3Ql7ZLsU


95. If the diameter of cross-section of a wire is decreased by 5%

how much
 percent will the length be increased so that the

volume remains the same?

Watch Video Solution

96. In Figure, OABC is a squaer inscribed in a quadrant OPBQ. If

OA=20cm,
find the are of shaded region. 

Watch Video Solution

[Useπ = 3. 14. ]

97. Draw a triangle ABC with side BC=6CM, AB=5CM and


 . Then construct a triangle whose sides are 

time the corresponding sides of 
.

Watch Video Solution

∠ABC = 600 3

4

ABC

https://dl.doubtnut.com/l/_JB7PRDOq3D9T
https://dl.doubtnut.com/l/_4NfA2ldXq7lC
https://dl.doubtnut.com/l/_e9BNhlhAUHIB


98. A tower stands near an airport. The angle of elevation  of

the tower from a point on the ground such that its tangent is

. Find the height of the tower, if the distance of the observer

from the tower is 120m.

Watch Video Solution

θ

5

12

99. A hemispherical depression is cut out from one face of a

cubical wooden
 block such that the diameter ‘l’ of the

hemisphere is equal to the edge of
 the cube. Determine the

surface area of the remaining solid.

Watch Video Solution

https://dl.doubtnut.com/l/_e9BNhlhAUHIB
https://dl.doubtnut.com/l/_WPnxZJ29fj6D
https://dl.doubtnut.com/l/_P34VvJZl07Jq


100. The points 
 are the vertices of a

triangle 
right angled at 
 . Find the value of 
and hence

the area of 

Watch Video Solution

A(2, 9), B(a, 5), C(5, 5)

ABC B a

ABC.

101. Prove that the points


in that order are the

vertices of a parallelogram.

Watch Video Solution

A(4, 3), B(6, 4), C(5, − 6)andD( − 3, 5)

102. A train travels at a certain average speed for a distance of

63km and
then travels a distance of 72km at an average speed of

6 km/hr more than its
 original speed. If it takes 3 hours to

complete the total journey, what is
its original average speed?

https://dl.doubtnut.com/l/_oPnWhxZHpk9O
https://dl.doubtnut.com/l/_Son82ZWOhe8k
https://dl.doubtnut.com/l/_cSUvtfqSASUx


Watch Video Solution

103. Cards with numbers 2 to 101 are placed in a box. A card is

selected at
 random from the box. Find the probability that the

card which is selected has
a number which is a perfect square.

Watch Video Solution

104. A sum of Rs. 1400 is to be used to give seven cash prizes to

students
 of a school for their overall academic performance. If

each prize is Rs.40
 less than the preceding price, find the value

of each of the prizes.

Watch Video Solution

https://dl.doubtnut.com/l/_cSUvtfqSASUx
https://dl.doubtnut.com/l/_uPke2rHauizA
https://dl.doubtnut.com/l/_8UfPNIbwN1LK


105. Find two consecutive odd positive integers, sum of whose

squares is
290.

Watch Video Solution

106. A golf ball has diameter equal to 4.1 cm. Its surface has 150

dimples each of radius 2 mm. Calculate totals area which is

exposed to the surrounding assuming that the dimples are

hemispherical.

Watch Video Solution

107. A tent of height 77dm is in the form of a right circular

cylinder of
 diameter 36m and height 44dm surmounted by a

https://dl.doubtnut.com/l/_RmoTddjsUhew
https://dl.doubtnut.com/l/_P4lCzn9AXxVE
https://dl.doubtnut.com/l/_iuthe9KjToyQ


right circular cone. Find the
 cost of the canvas at Rs. 3.50 per

Watch Video Solution

m2(Useπ = )
22

7

108. A cylindrical tub if radius 5cm and length 9.8cm is full of

water .A splid in the form of a right circular cone mounted on a

hemisphere is immersed into the tub.If the radius of the

hemisphere is 3.5cm and the total height of the solid ids 8.5cm

,find the volume of water left in the tub

Watch Video Solution

109. A tent is in the shape of a cylinder surmounted by a
conical

top. If the height and diameter of the cylindrical part are 2.1 m

and
 4 m respectively, and the slant height of the top is 2.8 m,

https://dl.doubtnut.com/l/_iuthe9KjToyQ
https://dl.doubtnut.com/l/_p5GtDcCozyNj
https://dl.doubtnut.com/l/_DLyiN0JrMCop


find the area of
 the canvas used for making the tent. Also find

the rate of the canvas with 500 per 

Watch Video Solution

m2

110. A toy is in the shape of a right circular cylinder with a

hemisphere on
one end and a cone on the other. The height and

radius of the cylindrical par
 are 13cm and 5cm respectively. The

radii of the hemispherical and conical
parts re the same as that

of the cylindrical part. Calculate the surface area
 of the toy if

height of the conical part is 12 cm.

Watch Video Solution

111. A right triangle, whose sides are 3 cm and 4 cm
(other than

hypotenuse) is made to revolve about its hypotenuse. Find the

https://dl.doubtnut.com/l/_DLyiN0JrMCop
https://dl.doubtnut.com/l/_0QyUffrvWPgm
https://dl.doubtnut.com/l/_TSpumAxys6z9


volume and surface area of the double cone so formed.

Watch Video Solution

112. A cone made of paper has height 3h and vertical angle . It

contains two other cones of height 2h and h and vertical angle

 and . Find the ratio of the two volume in the cones.

Watch Video Solution

2α

4α 6α

113. A cylinder vessel of diameter 14cm and height 42cm is fixed

symmetrically inside a similar vessel of diameter 16cm and height

42cm. The
total space between the two vessels is filled with cork

dust for heat
 insulation purposes. How many cubic centimetres

of cork dust will be
required?

Watch Video Solution

https://dl.doubtnut.com/l/_TSpumAxys6z9
https://dl.doubtnut.com/l/_3Nl7UVwzlqs5
https://dl.doubtnut.com/l/_u6qQ1yovjBzm


114. The difference between outside and inside surface areas of

cylindrical
metallic pipe 14cm long is 
 If the pipe is made

of 
of metal, find the outer and inner radii of the pipe

Watch Video Solution

44cm2.

99cm3

115. A solid iron rectangular block of dimensions 4.4 m , 2.6 m

and 1 m is cast into a hollow cylindrical pipe of internal radius 30

cm and thickness 5 cm.Find the length of the pipe.

Watch Video Solution

116. Sushant has a vessel of the form of an inverted cone, open at

the top, of height 11 cm and radius of the top as 2.5 cm and is

full of water. Metallic spherical balls each of diameter 0.5 cm are

https://dl.doubtnut.com/l/_u6qQ1yovjBzm
https://dl.doubtnut.com/l/_O74W8sG43atV
https://dl.doubtnut.com/l/_ibLz1DC01Oaz
https://dl.doubtnut.com/l/_dhunDqHtctTB


put in the vessel due to which two - fifths of the water in the

vessel flows out Find how many balls were put in the vessel.

Sushant made the arrangement so that the water that flows out

irrigates the flower beds. What value has been shown by Sushant

?

Watch Video Solution

117. A vessel in the shape of a cuboid contains some water. If

three
 indentical spheres are immersed in the water, the level of

water is increased
by 2cm. If the area of the base of the cuboid is

160 
and its height 12cm, determine the radius of any of the

spheres.

Watch Video Solution

cm2

https://dl.doubtnut.com/l/_dhunDqHtctTB
https://dl.doubtnut.com/l/_XDGeOKlaaoT5


118. Prove that the surface area of a sphere is equal to the curved

surface
area of the circumscribed cylinder.

Watch Video Solution

119. Find the volume of the largest right circular cone that can be

cut out
of a cube whose edge is 9cm.

Watch Video Solution

120. A right circular cylinder having diameter 12cm and height

15cm is full
of ice-cream. The ice-cream is to be filled in cones of

height 12cm and
diameter 6cm having a hemispherical shape on

the top. Find the number of such
cones which can be filled with

ice-cream.

W t h Vid S l ti

https://dl.doubtnut.com/l/_G8wnQaeW35bY
https://dl.doubtnut.com/l/_jLpN7Y5CwvL6
https://dl.doubtnut.com/l/_cfUoveLYIMgn


Watch Video Solution

121. A circus tent is cylindrical upto a height of 3m and conical

above it.
 If the diameter of the base is 105m and the slant height

of the conical part
 is 53m, find   the total canvas used in
making

the tent.

Watch Video Solution

122. Water is flowing at the rate of 2.52 km/h through a

cylindrical pipe
 into a cylindrical tank, the radius of the base is

40cm. If the increase in
the level of water in the tank, in half an

hour is 3.15m, find the internal
diameter of the pipe.

Watch Video Solution

https://dl.doubtnut.com/l/_cfUoveLYIMgn
https://dl.doubtnut.com/l/_yl7JIqYQx2HV
https://dl.doubtnut.com/l/_WPXncnrdA6tq


123. The solid is composed of a cylinder with hemispherical ends.

If the whole length of the solid is 108cm and the diameter of the

hemispherical ends is 36cm, find the cost of polishing the

surface of the solid at the rate of 7
 paise per sq. cm

Watch Video Solution

(Useπ = )
22

7

124. A solid is in the form of a right circular cone mounted on a

hemisphere. The radius of the hemisphere is 3.5cm and the

height of the cone
is 4cm. The solid is placed in a cylindrical tub,

full of water, in such a
way that the whole solid is submerged in

water. If the radius of the cylinder
is 5cm and its height is 10.5cm,

find the volume of water left in the
 cylindrical tub.

Watch Video Solution

(Useπ = )
22

7

https://dl.doubtnut.com/l/_44YRraQYBRa3
https://dl.doubtnut.com/l/_M6FuQXxFEh2H


Watch Video Solution

125. Three cubes
 each of side 5 cm are joined end to end. Find

the surface area of the
resulting cuboid.

Watch Video Solution

126. Two cubes
 each of volume 
 are joined
 end to end.

Find the surface area and volume of the resulting cuboid.

Watch Video Solution

64 cm3

127. A metallic
sphere of radius 4.2 cm is melted and recast into

the shape of a cylinder of
 radius 6 cm. Find the height of the

cylinder.

Watch Video Solution

https://dl.doubtnut.com/l/_M6FuQXxFEh2H
https://dl.doubtnut.com/l/_adwIsnnHAPO6
https://dl.doubtnut.com/l/_2ZUaqz2AMOG8
https://dl.doubtnut.com/l/_XDrBFhEk3RqK


128. Metallic
spheres of radii 6 cm, 8 cm and 10 cm respectively,

are melted to form a
single solid sphere. Find the radius of the

resulting sphere.

Watch Video Solution

129. How many
spherical bullets can be made out of a solid cube

of lead whose edge measures
 44 cm, each being 4 cm in

diameter.

Watch Video Solution

130. A sphere of
 diameter 6 cm is dropped in a right circular

cylindrical vessel partly filled
 with water. The diameter of the

cylindrical vessel is 12 cm. If the sphere is
completely submerged

https://dl.doubtnut.com/l/_XDrBFhEk3RqK
https://dl.doubtnut.com/l/_5QrpezMN6JfQ
https://dl.doubtnut.com/l/_NMozSrkEnz8G
https://dl.doubtnut.com/l/_n4WzAPt4TzqN


in water, by how much will the level of water rise in
 the

cylindrical vessel?

Watch Video Solution

131. A right
circular cone is 3.6 cm high and radius of its base is

1.6 cm. It is melted
 and recast into a right circular cone with

radius of its base as 1.2 cm. Find
its height.

Watch Video Solution

132. A conical
vessel whose internal radius is 5 cm and height 24

cm is full of water. The
water is emptied into a cylindrical vessel

with internal radius 10 cms. Find
 the height to which the water

rises.

Watch Video Solution

https://dl.doubtnut.com/l/_n4WzAPt4TzqN
https://dl.doubtnut.com/l/_WiaNfoizgBMR
https://dl.doubtnut.com/l/_lPwVoxpRfmWV


133. The
 dimensions of a metallic cuboid are:


 . It is
 melted and recast into a cube.

Find the surface area of the cube.

Watch Video Solution

100 cm × 80 cm × 64 cm

134. Find the
 number of coins, 1.5 cm in diameter and 0.2 cm

thick, to be melted to form a
right circular cylinder of height 10

cm and diameter 4.5 cm.

Watch Video Solution

135. A glass
cylinder with diameter 20 cm has water to a height

of 9 cm. A metal cube of 8
cm edge is immersed in it completely.

https://dl.doubtnut.com/l/_lPwVoxpRfmWV
https://dl.doubtnut.com/l/_a0PLTkgTNeIg
https://dl.doubtnut.com/l/_A1X4Fn15Axzl
https://dl.doubtnut.com/l/_cbV9TrhpsF0s


Calculate the height by which water
 will rise in the cylinder.

Watch Video Solution

(Take  π = 3. 142)

136. 2.2 cubic
 dm of brass is to be drawn into a cylindrical wire

0.50 cm in diameter. Find
the length of the wire.

Watch Video Solution

137. A well with
 10 m inside diameter is dug 14 m deep. Earth

taken out of it is spread all a
round to a width of 5 m to form an

embankment. Find the height of embankment.

Watch Video Solution

https://dl.doubtnut.com/l/_cbV9TrhpsF0s
https://dl.doubtnut.com/l/_uoXVkGGBRIBO
https://dl.doubtnut.com/l/_Bgw2QxevlHBK


138. A 20 m deep well with diameter 7 m is dug and the
 earth

from digging is evenly spread out to form a platform 22 m by 14

m. Find
the height of the platform.

Watch Video Solution

139. A well, whose diameter is 7m, has been dug 22.5 m deep and

the earth dugout is used to form an embankment around it. If

the height of the embankment is 1.5 m, find the width of the

embankment.

Watch Video Solution

140. Water is
 being pumped out through a circular pipe whose

internal diameter is 7 cm. If
 the flow of water is 72 cm per

https://dl.doubtnut.com/l/_cCe7A34IUCfP
https://dl.doubtnut.com/l/_0QXzS493n6Fb
https://dl.doubtnut.com/l/_SFR5uHGIFx9O


second, how many litres of water are being
 pumped out in one

hour?

Watch Video Solution

141. water is flowing at the rate of 2.52 km/h through a cylindrical

pipe into a cylindrical tank, the radius of whose base is 40 cm, If

the increase in the level of water in the tank, in half an hour is

3.15 m, find the internal diameter of th pipe.

Watch Video Solution

142. Water is flowing at the rate of 5 km/hour through a pipe of

diameter 14 cm into a rectangular tank, which is 50 m long and

44 m wide. Determine the time in which the level of water the

tank will rise by 7 cm.

https://dl.doubtnut.com/l/_SFR5uHGIFx9O
https://dl.doubtnut.com/l/_6oBe1VVeTgf6
https://dl.doubtnut.com/l/_GBgaSzQ5k9UB


Watch Video Solution

143. The rain
 water from a roof of 
 drains into
 a

cylindrical vessel having diameter of base 2 m and height 3.5 m.

If the
vessel is just full, find the rain fall in cm.

Watch Video Solution

22 m × 20 m

144. Water in a
 canal, 
 is flowing

with a velocity of 
How many
area will it irrigate

in 
if 
of standing
water is desired?

Watch Video Solution

30 dm wide and 12dm deep,

20km per hour.

30 m ∈ , 9 cm

145. A
 hemispherical tank of radius 1.75 m is full of water. It is

connected with a
pipe which empties it at the rate of 7 litres per

https://dl.doubtnut.com/l/_GBgaSzQ5k9UB
https://dl.doubtnut.com/l/_LwoAf7ycb3CJ
https://dl.doubtnut.com/l/_GWsnPqz2eFMR
https://dl.doubtnut.com/l/_KLCJ17gPfM2f


second. How much time will
 it take to empty the tank

completely?

Watch Video Solution

146. The barrel of a fountain pen, cylindrical in shape, is 7 cm

long and 5 mm in diameter. A full barrel of ink in the pin is used

up on writing 3300 words on an average. How many words can

be written in a bottle of ink containing one-fifth of a litre?

Watch Video Solution

147. The cost of
 painting the total outside surface of a closed

cylindrical oil tank at 60 paise per sq. dm is Rs. 237.60. The height

of the tank is
6 times the radius of the base of the tank. Find its

volume correct to two
decimal places.

https://dl.doubtnut.com/l/_KLCJ17gPfM2f
https://dl.doubtnut.com/l/_chy9aKhdh9Gt
https://dl.doubtnut.com/l/_sVQvOwYaRdcn


Watch Video Solution

148. A copper wire, 3 mm in diameter, is wound about a
cylinder

whose length is 12 cm, and diameter 10 cm, so as to cover the

curved
surface of the cylinder. Find the length and mass of the

wire, assuming the
density of copper to be `8. 88g"\ "p e r"\

Watch Video Solution

149. A copper wire, 3 mm in diameter, is wound about a
cylinder

whose length is 12 cm, and diameter 10 cm, so as to cover the

curved
surface of the cylinder. Find the length and mass of the

wire, assuming the
density of copper to be `8. 88g"\ "p e r"\

Watch Video Solution

https://dl.doubtnut.com/l/_sVQvOwYaRdcn
https://dl.doubtnut.com/l/_ebfB5bbADE8G
https://dl.doubtnut.com/l/_pZR3lzQ4Zk6q


150. The radii
of the internal and external surfaces of a metallic

spherical shell are 3 cm
 and 5 cm respectively. It is melted and

recast into a solid right circular
cylinder of height 
cm. Find

the diameter of the base of the cylinder.

Watch Video Solution

10
2

3

151. The largest
 sphere is carved out of a cube of a side 7 cm.

Find the volume of the sphere.

Watch Video Solution

152. Determine the ratio of the volume of a cube to that of a

sphere which will exactly fit inside the cube.

Watch Video Solution

https://dl.doubtnut.com/l/_n6bzqex1Ax9m
https://dl.doubtnut.com/l/_qYxYhqCP9nAd
https://dl.doubtnut.com/l/_ojKlWDwTVyy6


153. The radius
of a solid iron sphere is 8 cm. Eight rings of iron

plate of external radius 
cm and
thickness 3 cm are made by

melting this sphere. Find the internal diameter of
each ring.

Watch Video Solution

6
2

3

154. The radii
 of the bases of two right circular solid cones of

same height are 
and 
respectively.
The cones are melted and

recast into a solid sphere of radius 
 . Show that
 the height of

each cone is given by 

Watch Video Solution

r1 r2

R

h =
4R3

r12 + r22

155. Selvis house has an overhead tank in the shape of a cylinder.

This is filled by pumping water from a sump (an underground

https://dl.doubtnut.com/l/_ojKlWDwTVyy6
https://dl.doubtnut.com/l/_0LArtLvkJEst
https://dl.doubtnut.com/l/_rgOcha86yKog
https://dl.doubtnut.com/l/_WDL5btIKoet3


tank) which is in the shape of a cuboid. The sump has

dimensions . The overhead tank has its

radius of 60cm and its height is 95cm. Find the height of the

water, left in the sump after the overhead tank has been

completely filled with water from a sump which had been full.

Compare the capacity of the tank with that of the sump (Use

π=22/7)

Watch Video Solution

1. 57m × 1. 44m × 95cm

156. A
hemispherical tank full of water is emptied by a pipe at the

rate of 
litres per
second. How much time will it take to make

the tank half-empty, if the tank
is 3 m in diameter?

Watch Video Solution

3
4

7

https://dl.doubtnut.com/l/_WDL5btIKoet3
https://dl.doubtnut.com/l/_Ps9Le70ZblYn


157. How many
 balls, each of radius 1 cm, can be made from a

solid sphere of lead of radius
8 cm?

Watch Video Solution

158. How many
spherical bullets each of 5 cm in diameter can be

cast from a rectangular
block of metal 
?

Watch Video Solution

11 dm × 1 m × 5 dm

159. A spherical
 ball of radius 3 cm is melted and recast into

three spherical balls. The
radii of the two of the balls are 1.5 cm

and 2 cm respectively. Determine the
diameter of the third ball.

Watch Video Solution

https://dl.doubtnut.com/l/_BVWTzOs7RQEY
https://dl.doubtnut.com/l/_phO26T9hngrZ
https://dl.doubtnut.com/l/_rw5OMgAPVuFm
https://dl.doubtnut.com/l/_DIn7Hm4cJdVh


160. 2.2 cubic
 dm of brass is to be drawn into a cylindrical wire

0.25 cm in diameter. Find
the length of the wire.

Watch Video Solution

161. What length
 of a solid cylinder 2 cm in diameter must be

taken to recast into a hollow
 cylinder of length 16 cm, external

diameter 20 cm and thickness 2.5 mm?

Watch Video Solution

162. A
cylindrical vessel having diameter equal to its height is full

of water which
 is poured into two identical cylindrical vessels

with diameter 42 cm and
 height 21 cm which are filled

completely. Find the diameter of the
cylindrical vessel.

Watch Video Solution

https://dl.doubtnut.com/l/_DIn7Hm4cJdVh
https://dl.doubtnut.com/l/_i5dkTVfGHzmz
https://dl.doubtnut.com/l/_Lir2jd5e1XCU


163. 50 circular
plates each of diameter 14 cm and thickness 0.5

cm are placed one above the
 other to form a right circular

cylinder. Find its total surface area.

Watch Video Solution

164. 25 circular
 plates, each of radius 10.5 cm and thickness 1.6

cm, are placed one above the
 other to form a solid circular

cylinder. Find the curved surface area and the
 volume of the

cylinder so formed.

Watch Video Solution

https://dl.doubtnut.com/l/_Lir2jd5e1XCU
https://dl.doubtnut.com/l/_JrYL9WUAKhNt
https://dl.doubtnut.com/l/_S30iWyi4XUHE


165. A path 2 m
wide surrounds a circular pond of diameter 40 m.

How many cubic metres of
gravel are required to grave the path

to a depth of 20 cm?

Watch Video Solution

166. A 16 m deep
 well with diameter 3.5 m is dug up and the

earth from it is spread evenly to
form a platform 27.5 m by 7 m.

Find the height of the platform.

Watch Video Solution

167. A well of
diameter 2 m is dug 14 m deep. The earth taken out

of it is spread evenly all
 around it to form an embankment of

height 40 cm. Find the width of the
embankment.

W t h Vid S l ti

https://dl.doubtnut.com/l/_a6dP175KwWlK
https://dl.doubtnut.com/l/_Lg6BYJARuVSV
https://dl.doubtnut.com/l/_7KjbYfVmRpO0


Watch Video Solution

168. Find the volume of the largest right circular cone that can

be cut out
of a cube whose edge is 9cm.

Watch Video Solution

169. A
cylindrical bucket, 32 cm high and 18 cm of radius of the

base, is filled
 with sand. This bucket is emptied on the ground

and a conical heap of sand is
formed. If the height of the conical

heap is 24 cm, find the radius and slant
height of the heap.

Watch Video Solution

170. Rain water,
which falls on a flat rectangular surface of length

6 m and breadth 4 m is
 transferred into a cylindrical vessel of

https://dl.doubtnut.com/l/_7KjbYfVmRpO0
https://dl.doubtnut.com/l/_OWBe8SzAdCCz
https://dl.doubtnut.com/l/_qYiVJzQeDrAo
https://dl.doubtnut.com/l/_V6UVBxILndCr


internal radius 20 cm. What will be
 the height of water in the

cylindrical vessel if a rainfall of 1 cm has
fallen?
(a) 188
cm (b) 189

cm (c) 190 cm (d) 191 cm

Watch Video Solution

171. A conical
flask is full of water. The flask has base-radius 
and

height 
 . The water
 is poured into a cylindrical flask of base-

radius 
. Find the
height of water in the cylindrical flask.

Watch Video Solution

r

h

mr

172. A
rectangular tank 15 m long and 11 m broad is required to

receive entire
 liquid contents from a full cylindrical tank of

internal diameter 21 m and
 length 5 m. Find the least height of

the tank that will serve the purpose.

https://dl.doubtnut.com/l/_V6UVBxILndCr
https://dl.doubtnut.com/l/_OI0CModXeIBp
https://dl.doubtnut.com/l/_bLOYJQKkNX6R


Watch Video Solution

173. A
hemispherical bowl of internal radius 9 cm is full of liquid.

This liquid is
 to be filled into cylindrical shaped small bottles

each of diameter 3 cm and
 height 4 cm. How many bottles are

necessary to empty the bowl?

Watch Video Solution

174. The
 diameters of the internal and external surfaces of a

hollow spherical shell
 are 6 cm and 10 cm respectively. If it is

melted and recast into a solid
 cylinder of diameter 14 cm, find

the height of the cylinder.

Watch Video Solution

https://dl.doubtnut.com/l/_bLOYJQKkNX6R
https://dl.doubtnut.com/l/_qcvK1TNLZhOj
https://dl.doubtnut.com/l/_IllC335jYplL


175. A hollow
sphere of internal and external diameters 4 cm and

8 cm respectively is
 melted into a cone of base diameter 8 cm.

Calculate the height of the cone.

Watch Video Solution

176. A
cylindrical tub of radius 12 cm contains water to a depth of

20 cm. A
 spherical ball is dropped into the tub and the level of

the water is raised
by 6.75 cm. Find the radius of the ball.

Watch Video Solution

177. 500 persons
have to dip in a rectangular tank which is 80 m

long and 50 m broad. What is
the rise in the level of water in the

tank, if the average displacement of
 water by a person is


?0. 04 m3

https://dl.doubtnut.com/l/_spZP6KSYnLB9
https://dl.doubtnut.com/l/_75Y8rlpev3OE
https://dl.doubtnut.com/l/_e3E9YPSnmv76


Watch Video Solution

178. A
cylindrical jar of radius 6 cm contains oil. Iron spheres each

of radius 1.5
 cm are immersed in the oil. How many spheres are

necessary to raise the level
of the oil by two centimetres?

Watch Video Solution

179. A hollow
sphere of internal and external radii 2 cm and 4 cm

respectively is melted
 into a cone of base radius 4 cm. Find the

height and slant height of the
cone.

Watch Video Solution

https://dl.doubtnut.com/l/_e3E9YPSnmv76
https://dl.doubtnut.com/l/_m2hTpFGA9Neq
https://dl.doubtnut.com/l/_1HPBJINuRgSm


180. The
 internal and external diameters of a hollow

hemispherical vessel are 21 cm
and 25.2 cm respectively. The cost

of painting 
of the
surface is 10 paise. Find the total cost to

paint the vessel all over.

Watch Video Solution

1 cm2

181. Raise in water level problems : A cylinderical tub of radius 12

cm contains water to a depth of 20cm. A spherical form ball of a

radius 9 cm is dropped into the tub and thus the level of water is

raised by H cm. What is the value of H?

Watch Video Solution

182. A spherical
 ball of radius 3 cm is melted and recast into

three spherical balls. The
radii of two of the balls are 1.5 cm and

https://dl.doubtnut.com/l/_413telg1Y3w1
https://dl.doubtnut.com/l/_vtCMt95u2L36
https://dl.doubtnut.com/l/_hUUOTMzwO4Yq


2 cm. Find the diameter of the third
ball.

Watch Video Solution

183. The
 diameter of a metallic sphere is equal to 9 cm. It is

melted and drawn into a
 long wire of diameter 2 mm having

uniform cross-section. Find the length of
the wire.

Watch Video Solution

184. An iron
 spherical ball has been melted and recast into

smaller balls of equal size.
 If the radius of each of the smaller

balls is 
 of the
 radius of the original ball, how many such

balls are made? Compare the
surface area, of all the smaller balls

combined together with that of the
original ball.

Watch Video Solution

1/4

https://dl.doubtnut.com/l/_hUUOTMzwO4Yq
https://dl.doubtnut.com/l/_jIfoK3xatyya
https://dl.doubtnut.com/l/_s4kFstdo94Nx


185. A tent of
height 77 dm is in the form a right circular cylinder

of diameter 36 m and
 height 44 dm surmounted by a right

circular cone. Find the cost of the canvas
at Rs 
.

Watch Video Solution

3. 50 per m2

186. Metal
 spheres, each of radius 2 cm, are packed into a

rectangular box of internal
 dimension 

when 16
 spheres are packed the box is filled with preservative

liquid. Find the
volume of this liquid.

Watch Video Solution

16 cm × 8 cm × 8 cm

187. The largest
 sphere is to be curved out of a right circular

cylinder of radius 7 cm and
height 14 cm. Find the volume of the

https://dl.doubtnut.com/l/_s4kFstdo94Nx
https://dl.doubtnut.com/l/_BxYdnQOF97zU
https://dl.doubtnut.com/l/_EB0KkSYqdJy5
https://dl.doubtnut.com/l/_bODNldGQ58og


sphere.

Watch Video Solution

188. A copper
sphere of radius 3 cm is melted and recast into a

right circular cone of height
3 cm. Find the radius of the base of

the cone.

Watch Video Solution

189. A copper
rod of diameter 1 cm and length 8 cm is drawn into

a wire of length 18 m of
uniform thickness. Find the thickness of

the wire.

Watch Video Solution

https://dl.doubtnut.com/l/_bODNldGQ58og
https://dl.doubtnut.com/l/_NlSzvnGxY9jP
https://dl.doubtnut.com/l/_Gp1IqhoUNU7o


190. The
 diameters of the internal and external surfaces of a

hollow spherical shell
 are 6 cm and 10 cm respectively. If it is

melted and recast into a solid
 cylinder of diameter 14 cm, find

the height of the cylinder.

Watch Video Solution

191. A right
angled triangle whose sides are 3 cm, 4 cm and 5 cm

is revolved about the
 sides containing the right angle in two

ways. Find the difference in volumes
of the two cones so formed.

Also, find their curved surfaces.

Watch Video Solution

192. How many
coins 1.75 cm in diameter and 2 mm thick must be

melted to form a cuboid 
?11 cm × 10 cm × 7 cm

https://dl.doubtnut.com/l/_gG5D7Zs42UtP
https://dl.doubtnut.com/l/_iudcCjiTUMY1
https://dl.doubtnut.com/l/_6s9RyeJzKbpD


Watch Video Solution

193. A well with
inner diameter 8 m is dug 14 m deep. Earth taken

out of its has been evenly
spread all around it to a width of 3 m

to form an embankment. The height of
the embankment will be


(b) 
(c) 
(d) 

Watch Video Solution

4 m
26

33
5 cm

26

33
6 cm

26

33
7 cm

26

33

194. Water in a canal, 6 m wide and 1.5 m deep, is
flowing with a

speed of 10 km/h. How much area will it irrigate in 30
minutes, if

8 cm of standing water is needed?

Watch Video Solution

https://dl.doubtnut.com/l/_6s9RyeJzKbpD
https://dl.doubtnut.com/l/_Cbgh2OBHz63y
https://dl.doubtnut.com/l/_6lNZwrbK0UuL


195. A farmer connects a pipe of internal diameter 20 cm
from a

canal into a cylindrical tank in her field, which is 10 m in diameter

and 2 m deep. If water flows through the pipe at the rate of 3

km/h, in how
much time will the tank be filled?

Watch Video Solution

196. A well of
diameter 3 m is dug 14 m deep. The earth taken out

of it has been spread
 evenly all around it to a width of 4 m to

form an embankment. Find the height
of the embankment.

Watch Video Solution

197. The surface
area of a solid metallic sphere is 
 . It is

melted and recast into a cone of height 28 cm. Find the diameter

of the base
of the cone so formed (Use 
)

616 cm2

π = 22/7

https://dl.doubtnut.com/l/_mpPZyOpxoig7
https://dl.doubtnut.com/l/_yw275PiacYb9
https://dl.doubtnut.com/l/_vg08jSRx3LIk


Watch Video Solution

198. The
difference between the outer and inner curved surface

areas of a hollow right
circular cylinder 14 cm long is 
 . If

the
volume of metal used in making the cylinder is 
, find

the
outer and inner diameters of the cylinder.
 (Use 
)

Watch Video Solution

88 cm2

176 cm3

π = 22/7

199. The volume
of a hemi-sphere is 
 . Find its
curved

surface area. (Use 
)

Watch Video Solution

2425  cm31

2

π = 22/7

https://dl.doubtnut.com/l/_vg08jSRx3LIk
https://dl.doubtnut.com/l/_xlWiRU1FOxU4
https://dl.doubtnut.com/l/_C9K6azUhGbOf


200. A
cylindrical bucket, 32 cm high and with radius of base 18

cm, is filled with
sand. This bucket is emptied out on the ground

and a conical heap of sand is
formed. If the height of the conical

heap is 24 cm, find the radius and slant
height of the heap.

Watch Video Solution

201. If the total surface arecl of a solid hemisphere is 

find its volume

Watch Video Solution

462cm2

202. 150
spherical marbles, each of diameter 1.4 cm are dropped

in a cylindrical
 vessel of diameter 7 cm containing some water,

which are completely immersed in
 water. Find the rise in the

level of water in the vessel.

https://dl.doubtnut.com/l/_6EyQeATEOCi2
https://dl.doubtnut.com/l/_2BhgOF7tu0GL
https://dl.doubtnut.com/l/_0lrMVuqBgDPn


Watch Video Solution

203. A
 cylindrical tank full of water is emptied by a pipe at the

rate of 225 litres
per minute. How much time will it take to empty

half the tank, if the
diameter of its base is 3 m and its height is

3.5 m? [Use
 
]

Watch Video Solution

π = 22/7

204. A solid
metallic sphere of radius 5.6 cm is melted and solid

cones each of radius 2.8
cm and height 3.2 cm are made. Find the

number of such cones formed.

Watch Video Solution

https://dl.doubtnut.com/l/_0lrMVuqBgDPn
https://dl.doubtnut.com/l/_WA8dMdt6sxZk
https://dl.doubtnut.com/l/_kPYLugxN3Nq2


205. A 5 m wide
 cloth is used to make a conical tent of base

diameter 14 m and height 24.
 Find the cost of cloth used at the

rate of Rs 25 per metre. [Use
 
]

Watch Video Solution

π = 22/7

206. An iron
 pillar has some part in the form of a right circular

cylinder and remaining
 in the form of a right circular cone. The

radius of the base of each of cone
 and cylinder is 8 cm. The

cylindrical part is 240 cm high and the conical
part is 36 cm high.

Find the weight of the pillar if one cubic cm of iron weighs
 7.8

grams.

Watch Video Solution

https://dl.doubtnut.com/l/_1df1HPyEZBq7
https://dl.doubtnut.com/l/_MEm0g0K75PjU


207. The interior of a building is in the form of a right circular

cylinder of diameter 4.2 m and height 4 m and height 4 m

surmounted by a cone of same diameter. The hright of the cone

is 2.8 m. Find the outer surface area of the building.

Watch Video Solution

208. The
 interior of a building is in the form of cylinder of

diameter 4.3 m and
height 3.8 m, surmounted by a cone whose

vertical angle is a right angle.
 Find the area of the surface and

the volume of the building. (Take
 
)

Watch Video Solution

π = 3. 14

209. A tent is
 of the shape of a right circular cylinder upto a

height of 3 metres and then
becomes a right circular cone with a

https://dl.doubtnut.com/l/_lIWsFQu0WpOO
https://dl.doubtnut.com/l/_meqySv9Ac3gw
https://dl.doubtnut.com/l/_NWotGoVkc9gb


maximum height of 13.5 metres above the
ground. Calculate the

cost of painting the inner side of the tent at the rate
of Rs 2 per

square metre, if the radius of the base is 14 metres.

Watch Video Solution

210. A solid
 wooden toy is in the shape of a right circular cone

mounted on a hemisphere.
 If the radius of the hemisphere is 4.2

cm and the total height of the toy is
10.2 cm, find the volume of

the wooden toy.

Watch Video Solution

211. A
 cylindrical container of radius 6 cm and height 15 cm is

filled with
 ice-cream. The whole ice-cream has to be distributed

to 10 children in equal
 cones with hemispherical tops. If the

https://dl.doubtnut.com/l/_NWotGoVkc9gb
https://dl.doubtnut.com/l/_4OQX7HF2pM8f
https://dl.doubtnut.com/l/_GgWcTFwBOzLf


height of the conical portion is four
times the radius of its base,

find the radius of the ice-cream cone.

Watch Video Solution

212. A solid is
 in the form of a cylinder with hemispherical ends.

The total height of the
 solid is 19 cm and the diameter of the

cylinder is 7 cm. Find the volume and
 total surface area of the

solid (Use 
)

Watch Video Solution

π = 22/7

213. A vessel is
in the form of a hemispherical bowl mounted by a

hollow cylinder. The
 diameter of the sphere is 14 cm and the

total height of the vessel is 13 cm.
 Find its capacity. (Take


)π = 22/7

https://dl.doubtnut.com/l/_GgWcTFwBOzLf
https://dl.doubtnut.com/l/_B0yzawXQuHdp
https://dl.doubtnut.com/l/_mONBjQ0xKv3z


Watch Video Solution

214. A solid toy
 is in the form of a right circular cylinder with a

hemispherical shape at one
 end and a cone at the other end.

Their common diameter is 4.2 cm. and the
 height of the

cylindrical and conical portions are 12 cm and 7 cm
respectively.

Find the volume of the solid toy. (Use
 
)

Watch Video Solution

π = 22/7

215. A solid toy
 is in the form of a hemisphere surmounted by a

right circular cone. Height of
the cone is 2 cm and the diameter

of the base is 4 cm. If a right circular
cylinder circumscribes the

solid. Find how much more space it will cover.

Watch Video Solution

https://dl.doubtnut.com/l/_mONBjQ0xKv3z
https://dl.doubtnut.com/l/_Muckjwj5qVdM
https://dl.doubtnut.com/l/_uqEjhAp6TUOr
https://dl.doubtnut.com/l/_Ug9RuEsBeRiS


216. From a solid circular cylinder with height 10 cm and radius

of the base 6 cm, a circular cone of the same height and same

base is removed. Find the volume of remaining solid and also

find the whole surface area.

Watch Video Solution

217. A wooden
toy rocket is in the shape of a cone mounted on a

cylinder as shown in Figure. The height of the entire rocket is 26

cm, while the height of the
conical part is 6 cm. The base of the

conical portion has a diameter of 5 cm,
 while the base diameter

of the cylindrical portion is 3 cm. If the conical
 portion is to be

painted orange and the cylindrical portion yellow, find the
 area

of the rocket painted with each of these colours. (Take


)

Watch Video Solution

π = 3. 14

https://dl.doubtnut.com/l/_Ug9RuEsBeRiS
https://dl.doubtnut.com/l/_96ISqIHipTWB


218. A wooden article
 was made by scooping out a hemisphere

from each end of a solid cylinder, as
shown in Fig. . If the height

of the cylinder is 10 cm, and its base is
of radius 3.5 cm, find the

total surface area of the article.

Watch Video Solution

219. Mayank made a bird-bath for his garden in the shape
 of a

cylinder with a hemispherical depression at one end. The height

of the
 cylinder is 1.45 m and its radius is 30 cm. Find the total

surface area of
the bird-bath.

Watch Video Solution

https://dl.doubtnut.com/l/_96ISqIHipTWB
https://dl.doubtnut.com/l/_2KycCw6RMphl
https://dl.doubtnut.com/l/_nlSDKp0Dz8GE


220. A tent is
in the shape of a cylinder surmounted by a conical

top. If the height and
 diameter of the cylindrical part are 2.1 m

and 4 m, and slant height of the
top is 2.8 m, find the area of the

canvas used for making the tent. Also,
 find the cost of canvas of

the tent at the rate of Rs 
.

Watch Video Solution

500 per m2

221. From a
 solid cylinder whose height is 2.4 cm and diameter

1.4 cm, a conical cavity
of the same height and same diameter is

hollowed out. Find the total surface
area of the remaining solid

to the nearest 
.

Watch Video Solution

cm2

https://dl.doubtnut.com/l/_vgqFrhVaooRY
https://dl.doubtnut.com/l/_iecTFCbi5QZu


222. A solid is in the shape of a cone standing on a hemisphere

with both their radii being equal to 1 cm and the height of the

cone is equal to its radius. Find the volume of the solid in terms

of .

Watch Video Solution

π

223. Rachel, an engineering student, was asked to make a
model

shaped like a cylinder with two cones attached at its two ends by

using
a thin aluminium sheet. The diameter of the model is 3 cm

and its length is
12 cm. If each cone has a height of 2 cm

Watch Video Solution

224. A
 gulabjamun when completely ready for eating contains

sugar syrup up to about
 30% of its volume. Find approximately

https://dl.doubtnut.com/l/_fkl8OM4YRb60
https://dl.doubtnut.com/l/_6C9pxFtlbDhn
https://dl.doubtnut.com/l/_VeQeGcqRhNlM


how much syrup would be found in 45
gulabjamuns shaped like

a cylinder with two hemispherical ends, if the
complete length of

each of the gulabjamun is 5 cm and its diameter is 2.8 cm.

Watch Video Solution

225. A pen stand made of wood is in the shape of a cuboid
with

four conical depressions to hold pens. The dimensions of the

cuboid are
 15 cm by 10 cm by 3.5 cm. The radius of each of the

depressions is 0.5 cm and
the depth is 1.4 cm. Find the volume o

Watch Video Solution

226. A vessel in
the form of inverted cone. Its height is 8 cm and

radius of its top, which is
 open, is 5 cm. It is filled with water

upto the brim. When lead shots, each
 of which is a sphere of

https://dl.doubtnut.com/l/_VeQeGcqRhNlM
https://dl.doubtnut.com/l/_ammGygKMC89E
https://dl.doubtnut.com/l/_y7kX4B9hU5sL


radius 0.5 cm are dropped in the vessel, one fourth
of the water

flows out. Find the number of lead shots dropped in the vessel.

Watch Video Solution

227. A solid
 consisting of a right standing on a hemisphere is

placed upright in a right
 circular cylinder full of water and

touches the bottom. Find the volume of
 water left in the

cylinder, if the radius of the cylinder is 60 cm and its
 height is

180 cm, the radius of the hemisphere is 60 cm and height of the

cone is 120 cm, assuming that the hemisphere and the cone have

common base.

Watch Video Solution

https://dl.doubtnut.com/l/_y7kX4B9hU5sL
https://dl.doubtnut.com/l/_UjDK584gnt8E


228. A solid
iron pole consists of a cylinder of height 220 cm and

base diameter 24 cm,
 which is surmounted by another cylinder

of height 60 cm and radius 8 cm. Find
the mass of the pole, given

that 
of iron has
approximately 
(Use 
)

Watch Video Solution

1 cm3 8 g mass π = 3. 14

229. A spherical
 glass vessel has a cylindrical neck 8 cm long, 2

cm in diameter: the diameter
 of the spherical part is 8.5 cm. By

measuring the amount of water it holds, a
child finds its volume

to be 
. Check
whether she is correct, taking the above as

the inside measurements and 
.

Watch Video Solution

345 cm3

π = 3. 16

https://dl.doubtnut.com/l/_UoX14efwUF2N
https://dl.doubtnut.com/l/_4pz4tnoSWgpQ


230. Rasheed got a playing top (lattu) as his birthday
 present,

which surprisingly had no colour on it. He wanted to colour it

with
his crayons. The top is shaped like a cone surmounted by a

hemisphere. The
entire top is 5 cm in height and the diameter of

the top is 3.5cm. Find the area he has to colour. (Take π=22/7)

Watch Video Solution

231. A
decorative block shown in Figure is made of two solids a

cube and a
 hemisphere. The base of the block is a cube with

edge 5 cm, and the
hemisphere fixed on the top has a diameter

4.2 cm. Find the total surface
area of the block (Take 
).

Watch Video Solution

π = 22/7

https://dl.doubtnut.com/l/_V0Fh3ClkVwvC
https://dl.doubtnut.com/l/_alb6VncmmFup


232. A cubical
block of side 7 cm is surmounted by a hemisphere.

What is the greatest
diameter of the hemisphere can have? Find

the total surface area of the
solid.

Watch Video Solution

233. A
hemispherical depression is cut-out from one face of the

cubical wooden block
 such that the diameter 
 of the

hemisphere is equal to the edge of the cube. Determine the

surface area of
the remaining solid.

Watch Video Solution

l

234. A medicine
 capsule is in the shape of a cylinder with two

hemispheres stuck to each of
 its ends as shown in Fig. The

https://dl.doubtnut.com/l/_VrsB38AhHlpe
https://dl.doubtnut.com/l/_bU7FGsZNsUa5
https://dl.doubtnut.com/l/_rjFJFay4phjt


length of the entire capsule is 14 mm
 and the diameter of the

capsule is 5 mm. Find its surface area.       

Watch Video Solution

235. Shanta runs an industry in a shed which is in the
shape of a

cuboid
surmounted by a half cylinder. If the base of the
shed is

of dimension 
 , and the
height of the cuboidal portion

is 8 m, find the volume of the air that the shed can hold. If the

industry requires machinery which would occupy a total space of


 , and there are 20 workers each of whom would occupy 


space on an average, how much air would be in the shed

when it is working. (Take 
​	)

Watch Video Solution

7mx15m

300m3

0.08m3

π =
22

7

https://dl.doubtnut.com/l/_rjFJFay4phjt
https://dl.doubtnut.com/l/_UFgygwAcx9fd


236. A juice seller was serving his customers using
 glasses. The

inner diameter of the cylindrical glass was 5 cm, but the bottom

of the glass had a hemispherical raised portion which reduced

the capacity of
the glass. If the height of a glass was 10 cm,find

what the apparent capacity of the glass was and what the actual

capacity was

Watch Video Solution

237. A container
 shaped like a right circular cylinder having

diameter 12 cm and height 15 cm
 is full of ice-cream. The ice-

cream is to be filled into cones of height 12
 cm and diameter 6

cm, having a hemispherical shape on the top. Find the
number of

such cones which can be filled with ice-cream.

Watch Video Solution

https://dl.doubtnut.com/l/_cDmSNHQWx7Fr
https://dl.doubtnut.com/l/_TT7vriRtzYps


238. A cistern,
 internally measuring 

has 
 of water in
 it. Porous bricks are placed in the

water until the cistern is full to the
brim. Each brick absorbs one

seventeenth of its own volume of water. How many
bricks can be

put in without the water overflowing, each brick being


?

Watch Video Solution

150 cm × 120 cm × 110 cm

129600 cm3

22. 5 cm × 7. 5 cm × 6. 5 cm

239. A tent is
in the form of a right circular cylinder surmounted

by a cone. The diameter
 of cylinder is 24 m. The height of the

cylindrical portion is 11 m while the
 vertex of the cone is 16 m

above the ground. Find the area of canvas required
for the tent.

Watch Video Solution

https://dl.doubtnut.com/l/_cwyIODbFWV1h
https://dl.doubtnut.com/l/_WZZbh4sKiERB
https://dl.doubtnut.com/l/_OsjxTHtO1ZGm


240. A rocket is
 in the form of a circular cylinder closed at the

lower end with a cone of the
 same radius attached to the top.

The cylinder is of radius 2.5 m and height
21 m and the cone has

the slant height 8 m. Calculate the total surface area
 and the

volume of the rocket.

Watch Video Solution

241. A toy is in
the form of a cone surmounted on a hemisphere.

The diameter of the base and
 the height of the cone are 6 cm

and 4 cm, respectively. Determine the surface
 area of the toy.

(Use 
)

Watch Video Solution

π = 3. 14

https://dl.doubtnut.com/l/_OsjxTHtO1ZGm
https://dl.doubtnut.com/l/_sdCvVW1YTQVO


242. A solid is
 in the form of a right circular cylinder, with a

hemisphere at one end and a
cone at the other end. The radius

of the common base is 3.5 cm and the
heights of the cylindrical

and conical portions are 10 cm and 6 cm,
 respectively. Find the

total surface area of the solid. (Use
 
)

Watch Video Solution

π = 22/7

243. A toy is in the shape of a right circular cylinder with a

hemisphere on one end and a cone on the other. The height and

radius of the cylindrical part are 13cm and 5cm respectively. The

radii of the hemispherical and conical parts are the same as that

of the cylindrical part. Calculate the surface area of the toy if

height of the conical part is 12 cm.

Watch Video Solution

https://dl.doubtnut.com/l/_UpmUKWdzyhHf
https://dl.doubtnut.com/l/_TBoVohUKO8Su


244. A circus
tent has cylindrical shape surmounted by a conical

roof. The radius of the
 cylindrical base is 20 m. The heights of

the cylindrical and conical portions
 are 4.2 m and 2.1 m

respectively. Find the volume of the tent.

Watch Video Solution

245. A petrol
tank is a cylinder of base diameter 21 cm and length

18 cm fitted with
 conical ends each of axis length 9 cm.

Determine the capacity of the tank.

Watch Video Solution

246. A conical
hole is drilled in a circular cylinder of height 12 cm

and base radius 5 cm.
 The height and the base radius of the

https://dl.doubtnut.com/l/_ROQrhRAR6pt5
https://dl.doubtnut.com/l/_V0rZ79aqMM85
https://dl.doubtnut.com/l/_AZXl4HtvYKJ1


cone are also the same. Find the whole
 surface and volume of

the remaining cylinder.

Watch Video Solution

247. A boiler is
 in the form of a cylinder 2 m long with

hemispherical ends each of 2 metre
diameter. Find the volume of

the boiler.

Watch Video Solution

248. A vessel is
 a hollow cylinder fitted with a hemispherical

bottom of the same base. The depth of the cylinder is 
m and

the
diameter of hemisphere is 3.5 m. Calculate the volume and

the internal
surface area of the solid.

Watch Video Solution

14
3

https://dl.doubtnut.com/l/_AZXl4HtvYKJ1
https://dl.doubtnut.com/l/_jJBJGdpDxoJn
https://dl.doubtnut.com/l/_ZzB477H3wLqL


249. A solid is
composed of a cylinder with hemispherical ends. If

the whole length of the
solid is 104 cm and the radius of each of

the hemispherical ends is 7 cm,
 find the cost of polishing its

surface at the rate of Rs 

Watch Video Solution

10 per dm2

250. A
cylindrical road roller made of iron is 1 m long. Its internal

diameter is 54
 cm and the thickness of the iron sheet used in

making the roller is 9 cm.
 Find the mass of the roller, if 
of

iron has
8 gm mass. (Use 
)

Watch Video Solution

1 cm3

π = 3. 14

https://dl.doubtnut.com/l/_ZzB477H3wLqL
https://dl.doubtnut.com/l/_w3aFNP4aN2xx
https://dl.doubtnut.com/l/_L83p4IhbVgoT


251. A vessel in
 the form of a hollow hemisphere mounted by a

hollow cylinder. The diameter of
the hemisphere is 14 cm and the

total height of the vessel is 13 cm. Find the
inner surface area of

the vessel.

Watch Video Solution

252. A toy is in
the form of a cone of radius 3.5 cm mounted on a

hemisphere of same radius.
The total height of the toy is 15.5 cm.

Find the total surface area of the
toy.

Watch Video Solution

253. A right
circular cylinder having diameter 12 cm and height 15

cm is full of ice-cream.
 The ice-cream is to be filled in cones of

height 12 cm and diameter 6 cm
 having a hemispherical shape

https://dl.doubtnut.com/l/_tLVFrs9JOg3i
https://dl.doubtnut.com/l/_h2zQ3dB3H5bI
https://dl.doubtnut.com/l/_zfBZkPzsKAmK


on the top. Find the number of such cones which
 can be filled

with ice-cream.

Watch Video Solution

254. A solid toy
is in the form of a hemisphere surmounted by a

right circular cone. Height of
the cone is 2 cm and the diameter

of the base is 4 cm. If a right circular
cylinder circumscribes the

toy, find how much more space it will cover.

Watch Video Solution

255. A solid
consisting of a right circular cone of height 120 cm

and radius 60 cm
 standing on a hemisphere of radius 60 cm is

placed upright in a right
circular cylinder full of water such that

it touches the bottom. Find the
 volume of water left in the

https://dl.doubtnut.com/l/_zfBZkPzsKAmK
https://dl.doubtnut.com/l/_Z91Vp2EYXtVw
https://dl.doubtnut.com/l/_AP4WlUDjdsaV


cylinder, if the radius of the cylinder is 60 cm
 and its height is

180 cm.

Watch Video Solution

256. A
cylindrical vessel with internal diameter 10 cm and height

10.5 cm is full of
 water. A solid cone of base diameter 7 cm and

height 6 cm is completely
immersed in water. Find the volume of

water (i) displaced out of the
 cylinder (ii) left in the
 cylinder.

(Take 
)

Watch Video Solution

π = 22/7

257. A
 hemispherical depression is cut out from one face of a

cubical wooden block
 of edge 21 cm, such that the diameter of

https://dl.doubtnut.com/l/_AP4WlUDjdsaV
https://dl.doubtnut.com/l/_jH29XYzYJuOX
https://dl.doubtnut.com/l/_kdoe18I4Yutl


the hemisphere is equal to the edge
of the cube. Determine the

volume and total surface area of the remaining
block.

Watch Video Solution

258. A solid is
 in the shape of a cone surmounted on a hemi-

sphere, the radius of each of
them is being 3.5 cm and the total

height of solid is 9.5 cm. Find the volume
 of the solid. (Use


)

Watch Video Solution

π = 22/7

259. A wooden article was made by scooping out a
 hemisphere

from each end of a solid cylinder. If the height of the cylinder
 is

10 cm, and its base is of radius 3.5 cm, find the total surface area

of
the article.

https://dl.doubtnut.com/l/_kdoe18I4Yutl
https://dl.doubtnut.com/l/_3ER0fK2KlPD7
https://dl.doubtnut.com/l/_0v1x5OT9WGb4


Watch Video Solution

260. From a
solid cylinder of height 2.8 cm and diameter 4.2 cm,

a conical cavity of the
 same height and same diameter is

hollowed out. Find the total surface area of
the remaining solid.

(Take 
)

Watch Video Solution

π = 22/7

261. A solid wooden toy is in the form of a hemisphere

surmounted by a cone of same radius. The radius of hemisphere

is 3.5 cm and the total wood used in the making of toy is

. Find the height of the toy. Also, find the cost of

painting the hemispherical part of the toy at the rate of Rs. 10

per 

Watch Video Solution

166 cm35

6

cm2

https://dl.doubtnut.com/l/_0v1x5OT9WGb4
https://dl.doubtnut.com/l/_IbIARd7iwK9V
https://dl.doubtnut.com/l/_p5WFzK2rTAMD


262. The slant
 height of the frustum of a cone is 4 cm, and the

perimeter of its circular
 bases are 18 cm and 6 cm respectively.

Find the curved surface area of the
frustum.

Watch Video Solution

263. A bucket is in
 the form of a frustum of a cone and holds

28.490 litres of water. The radii
of the top and bottom are 28 cm

and 21 cm respectively. Find the height of
 the bucket.
 (a) 15 cm

(b) 20 cm (c) 25 cm (d) 30 cm

Watch Video Solution

264. A friction
 clutch is in the form of a frustum of a cone, the

diameter of the ends being
 32 cm and 20 cm and length 8 cm.

https://dl.doubtnut.com/l/_p5WFzK2rTAMD
https://dl.doubtnut.com/l/_l1KS1qGUNR68
https://dl.doubtnut.com/l/_tdsVmpPBsDZQ
https://dl.doubtnut.com/l/_eQvVN3srHKgK


Find its bearing surface and volume.

Watch Video Solution

265. The height of a cone is 30 cm .A small cone is cut off at the

top by a plane parallel to the base . If its volume be  of the

volume of the given cone, at what height above the base the

section has been made?

Watch Video Solution

1

27

266. An oil
funnel of tin sheet consists of a cylindrical portion 10

cm long attached to
a frustum of a cone. If the total height be 22

cm, diameter of the
cylindrical portion be 8 cm and the diameter

of the top of the funnel be 18
 cm, find the area of the tin

required to make the funnel.

https://dl.doubtnut.com/l/_eQvVN3srHKgK
https://dl.doubtnut.com/l/_HsiJYpX0AC3H
https://dl.doubtnut.com/l/_IcG69c7ZTFBC


Watch Video Solution

267. A solid
metallic right circular cone 20 cm high with vertical

angle 
 is cut into
two parts at the middle point of its height

by a plane parallel to the base.
 If the frustum, so obtained, be

drawn into a wire of diameter 
 , find the
 length of the

wire.

Watch Video Solution

60o

 cm
1

16

268. A bucket of
height 8 cm and made up of copper sheet is in

the form of frustum of a right
circular cone with radii of its lower

and upper ends as 3 cm and 9 cm
 respectively. (i) Calculate
 the

height
of the cone of which the bucket is a part.
 (ii) The volume

of water which can be filled in the bucket.
(iii) The
area of copper

sheet required to make the bucket.

https://dl.doubtnut.com/l/_IcG69c7ZTFBC
https://dl.doubtnut.com/l/_jXA0C4Z5w0AW
https://dl.doubtnut.com/l/_aCcBdgGaIzMg


Watch Video Solution

269. An open metal bucket is in the shape of a frustum of
a cone,

mounted on a hollow cylindrical base made of the same metallic

sheet.
The diameters of the two circular ends of the bucket are

45 cm and 25 cm, the
total vertical height of the bucket is 40cm

and that of the cylindrical base is 6cm. Find the area of the

metallic sheet used to make the bucket, where we do not take

into account the handle of the bucket. Also, find the volume of

water the bucket can hold. (Take π=22/7)

Watch Video Solution

270. Hanumappa
and his wife Gangavva are busy making Jaggery

out of sugar-cane. They have
 processed the sugarcane juice to

make the molasses which is poured into
 moulds of the shape

https://dl.doubtnut.com/l/_aCcBdgGaIzMg
https://dl.doubtnut.com/l/_FVyTelWKIH7i
https://dl.doubtnut.com/l/_4jX2DiFN2FQk


shown in Figure. It will be cooled to solidify in this
 shape to be

sent to the market. Each mould is in the shape of a frustum of a

cone having the diameters of its two circular ends as 30 cm and

35 cm and the
 height of the mould is 14 cm. If each 
 of

molasses
weighs about 1.2 gm, find the weight of molasses that

can be poured into each
mould (Take 
)

Watch Video Solution

cm3

π = 22/7

271. A fez, the
headgear cap used by the trucks is shaped like the

frustum of a cone. If its
radius on the open side is 10 cm, radius

at the upper base is 4 cm and its
slant height is 15 cm, find the

area of material used for making it.

Watch Video Solution

https://dl.doubtnut.com/l/_4jX2DiFN2FQk
https://dl.doubtnut.com/l/_CLLYMJjbEEUY


272. A bucket
has top and bottom diameters of 40 cm and 20 cm

respectively. Find the volume
of the bucket if its depth is 12 cm.

Also, find the cost of tin sheet used
for making the bucket at the

rate of Rs 
.

Watch Video Solution

1. 20 per cm2

273. A frustum
of a right circular cone has a diameter of base 20

cm, of top 12 cm, and
 height 3 cm. Find the area of its whole

surface and volume.

Watch Video Solution

274. The slant
 height of the frustum of a cone is 4 cm and the

perimeters of its circular
 ends are 18 cm and 6 cm. Find the

curved surface of the frustum.

https://dl.doubtnut.com/l/_yivFitVBSdTM
https://dl.doubtnut.com/l/_1aY4OOYem1Zm
https://dl.doubtnut.com/l/_Qc9E4vBh3GMU


Watch Video Solution

275. The
perimeters of the ends of a frustum of a right circular

cone are 44 cm and 33
cm. If the height of the frustum be 16 cm,

find its volume, the slant surface
and the total surface.

Watch Video Solution

276. If the
radii of the circular ends of a conical bucket which is

45 cm high be 28 cm
 and 7 cm, find the capacity of the bucket.

(Use 
)

Watch Video Solution

π = 22/7

https://dl.doubtnut.com/l/_Qc9E4vBh3GMU
https://dl.doubtnut.com/l/_Os7Ht8nMA3XM
https://dl.doubtnut.com/l/_aaZwSVRNwQTS


277. The height
 of a cone is 20 cm. A small cone is cut off from

the top by a plane parallel
to the base. If its volume be 
of

the
volume of the original cone, determine at what height above

the base the
section is made.

Watch Video Solution

1/125

278. If the
radii of the circular ends of a bucket 24 cm high are 5

cm and 15 cm
respectively, find the surface area of the bucket.

Watch Video Solution

279. The radii
of the circular bases of a frustum of a right circular

cone are 12 cm and 3 cm
and the height is 12 cm. Find the total

surface area and the volume of the
frustum.

W t h Vid S l ti

https://dl.doubtnut.com/l/_1NwipVT6vOrK
https://dl.doubtnut.com/l/_EYZeWr3NRlWN
https://dl.doubtnut.com/l/_QxAVbYlowPtN


Watch Video Solution

280. A tent
consists of a frustum of a cone capped by a cone. If

the radii of the ends of
the frustum be 13 m and 7 m, the height

of the frustum be 8 m and the slant
height of the conical cap be

12 m, find the canvas required for the tent.

Watch Video Solution

281. A reservoir
 in the form of the frustum of a right circular

cone contains 
 litres of
 water which fills it completely.

The radii of the bottom and top of the
 reservoir are 50 metres

and 100 metres respectively. Find the depth of water
 and the

lateral surface area of the reservoir. (Take
 
)

Watch Video Solution

44 × 107

π = 22/7

https://dl.doubtnut.com/l/_QxAVbYlowPtN
https://dl.doubtnut.com/l/_JYLTMIIwqIo5
https://dl.doubtnut.com/l/_rXhcg4RJIMrW
https://dl.doubtnut.com/l/_6bkqYguZNhOk


282. A solid
metallic right circular cone 20 cm high with vertical

angle 
 is cut into
two parts at the middle point of its height

by a plane parallel to the base.
 If the frustum, so obtained, be

drawn into a wire of diameter 
 , find the
 length of the

wire.

Watch Video Solution

60o

 cm
1

16

283. A bucket is in form of a frustum of a cone with a capacity of

of water. The radii of the top and bottom circular

ends are 20 cm and 12 cm respectively. Find the height of the

bucket and the area of the metal sheet used in its making. [ Use

]

Watch Video Solution

12308.8cm3

π = 3.14.

https://dl.doubtnut.com/l/_6bkqYguZNhOk
https://dl.doubtnut.com/l/_EBNjk7aJ2v6G


284. A bucket
 made of aluminium sheet is of height 20 cm and

its upper and lower ends are
 of radius 25 cm and 10 cm

respectively. Find the cost of making the bucket if
the aluminium

sheet costs Rs 70 per 
. (Use
 
)

Watch Video Solution

100 cm2 π = 3. 14

285. The radii
of the circular ends of a solid frustum of a cone are

33 cm and 27 cm and its
 slant height is 10 cm. Find its total

surface area.

Watch Video Solution

286. A bucket
 made up of a metal sheet is in the form of a

frustum of a cone of height 16
 cm with diameters of its lower

and upper ends as 16 cm and 40 cm
respectively. Find the volume

https://dl.doubtnut.com/l/_gVzIgiV091ER
https://dl.doubtnut.com/l/_M7MzYHvEY9SF
https://dl.doubtnut.com/l/_qP03NNPe1I0C


of the bucket. Also, find the cost of the
 bucket if the cost of

metal sheet used is Rs 20 per 
. (Use
 
)

Watch Video Solution

100 cm2 π = 3. 14

287. A solid is
in the shape of a frustum of a cone. The diameters

of the two circular ends
are 60 cm and 36 cm and the height is 9

cm. Find the area of its whole
surface and the volume.

Watch Video Solution

288. A milk container is made of metal sheet in the shape of

frustum of a cone
whose volume is . The radii of its

lower and upper circular
 ends are 8 cm and 20 cm respectively.

Find the cost of metal sheet used in
making the container at the

rate of Rs. 1.40 per square centimeter.

10459 cm23

7

https://dl.doubtnut.com/l/_qP03NNPe1I0C
https://dl.doubtnut.com/l/_k2N7UOZZFo9F
https://dl.doubtnut.com/l/_Jdze8yuzO1MI


Watch Video Solution

289. A solid
 cone of base radius 10 cm is cut into two parts

through the mid-point of its
 height, by a plane parallel to its

base. Find the ratio in the volumes of two
parts of the cone.

Watch Video Solution

290. A bucket open at the top, and made up of a metal sheet is in

the form of a frustum of a cone. The depth of the bucket is 24 cm

and the diameters of its upper and lower circular ends are 30 cm

and 10 cm respectively. Find the
cost of metal sheet used in it at

the rate of Rs 10 per 100 .

Watch Video Solution

cm2

https://dl.doubtnut.com/l/_Jdze8yuzO1MI
https://dl.doubtnut.com/l/_etnFAOmLK1yu
https://dl.doubtnut.com/l/_70uT5HEwYIHq


291. In Figure, from the top of a solid cone of height 12 cm and

base radius 6 cm, a
 cone of height 4 cm is removed by a plane

parallel to the base. Find the
total surface area of the remaining

solid.


Watch Video Solution

(Use  π = 22/7  and  √5 = 2. 236)

292. A metallic
sphere 1 dm in diameter is beaten into a circular

sheet of uniform thickness
equal to 1 mm. Find the radius of the

sheet.

Watch Video Solution

293. Three solid
 spheres of radii 3, 4 and 5 cm respectively are

melted and converted into a
single solid sphere. Find the radius

of this sphere.

https://dl.doubtnut.com/l/_g6SdghSwEUtT
https://dl.doubtnut.com/l/_vkkXGODAnMu4
https://dl.doubtnut.com/l/_4RPj7n0p0Jfu


Watch Video Solution

294. A spherical
shell of lead, whose external diameter is 18 cm, is

melted and recast into a
right circular cylinder, whose height is 8

cm and diameter 12 cm. Determine
 the internal diameter of the

shell.

Watch Video Solution

295. A well with
 10m inside diameter is dug 8.4m deep. Earth

taken out of it is spread all
around it to a width of 7.5m to form

an embankment. Find the height of the
embankment.

Watch Video Solution

https://dl.doubtnut.com/l/_4RPj7n0p0Jfu
https://dl.doubtnut.com/l/_lkXFNivBSjqh
https://dl.doubtnut.com/l/_XFzNOmQtadZB


296. In the
middle of a rectangular field measuring 
 ,

a well of
 7 m diameter and 10 m depth is dug. The earth so

removed is evenly spread over
 the remaining part of the field.

Find the height through which the level of
the field is raised.

Watch Video Solution

30m × 20m

297. The inner
and outer radii of a hollow cylinder are 15 cm and

20 cm, respectively. The
cylinder is melted and recast into a solid

cylinder of the same height. Find
 the radius of the base of new

cylinder.

Watch Video Solution

298. Two
 cylindrical vessels are filled with oil. Their radii are 15

cm, 12 cm and
heights 20 cm, 16 cm respectively. Find the radius

https://dl.doubtnut.com/l/_uagpp8bPqQ1Z
https://dl.doubtnut.com/l/_dC8UI6EOwpZl
https://dl.doubtnut.com/l/_VjPtlnzdAlXa


of a cylindrical vessel 21
cm in height, which will just contain the

oil of the two given vessels.

Watch Video Solution

299. A
cylindrical bucket 28 cm in diameter and 72 cm high is full

of water. The
 water is emptied into a rectangular tank 66 cm

long and 28 cm wide. Find the
 height of the water level in the

tank.

Watch Video Solution

300. A cubic cm
of gold is drawn into a wire 0.1 mm in diameter,

find the length of the wire.

Watch Video Solution

https://dl.doubtnut.com/l/_VjPtlnzdAlXa
https://dl.doubtnut.com/l/_wcnwoUoUH16S
https://dl.doubtnut.com/l/_e4SiqYD4jB7q
https://dl.doubtnut.com/l/_vjHkwz1A2kWg


301. A well of diameter 3 m is dug 14 m deep. The earth
taken out

of it has been spread evenly all around it in the shape of a

circular ring of width 4 m to form an
 embankment. Find the

height of the embankment.

Watch Video Solution

302. A conical
 vessel whose internal radius is 10 cm and height

48 cm is full of water. Find
 the volume of water. If this water is

poured into a cylindrical vessel with
 internal radius 20 cm, find

the height to which the water level rises in it.

Watch Video Solution

303. The
 vertical height of a conical tent is 42 dm and the

diameter of its base is
5.4 m. Find the number of persons it can

https://dl.doubtnut.com/l/_vjHkwz1A2kWg
https://dl.doubtnut.com/l/_7plUqGQaCJXL
https://dl.doubtnut.com/l/_kvhJC9jfCXbK


accommodate if each person is to be
allowed 29.16 cubic dm.

Watch Video Solution

304. A cylinder and a cone have equal radii of their
 bases and

equal heights. If their curved surface
 areas are in the ratio 8:5,

show that the radius of each is to the height of
each as 3:4.

Watch Video Solution

305. A sphere of
 diameter 5 cm is dropped into a cylindrical

vessel partly filled with water.
 The diameter of the base of the

vessel is 10 cm. If the sphere is completely submerged,
 by how

much will the level of water rise?

Watch Video Solution

https://dl.doubtnut.com/l/_kvhJC9jfCXbK
https://dl.doubtnut.com/l/_AK3Mpjo1tJr9
https://dl.doubtnut.com/l/_ofcRfQZDO5M7
https://dl.doubtnut.com/l/_FiGLl4lvM6Nu


306. A spherical
 ball of iron has been melted and made into

smaller balls. If the radius of
 each smaller ball is one-fourth of

the radius of the original one, how many
 such balls can be

made?

Watch Video Solution

307. Find the
 depth of a cylindrical tank of radius 28 m, if its

capacity is equal to that
 of a rectangular tank of size


.

Watch Video Solution

28m × 16m × 11m

308. A
 hemispherical bowl of internal radius 15 cm contains a

liquid. The liquid is
to be filled into cylindrical-shaped bottles of

https://dl.doubtnut.com/l/_FiGLl4lvM6Nu
https://dl.doubtnut.com/l/_Wk7dS6WBycF5
https://dl.doubtnut.com/l/_xE5EaKtGc2Yk


diameter 5 cm and height 6
cm. How many bottles are necessary

to empty the bowl?

Watch Video Solution

309. In a
 cylindrical vessel of diameter 24 cm, filled up with

sufficient quantity of
water, a solid spherical ball of radius 6 cm

is completely immersed. Find the
 increase in height of water

level.

Watch Video Solution

310. A hemisphere of lead of radius 7 cm is cast into a
 right

circular cone of height 49cm. Find the radius of the base.

Watch Video Solution

https://dl.doubtnut.com/l/_xE5EaKtGc2Yk
https://dl.doubtnut.com/l/_yccYhXT9Kgt6
https://dl.doubtnut.com/l/_zaCXfM6K83RX
https://dl.doubtnut.com/l/_LS6gD9DJvOGL


311. A solid
 metallic sphere of diameter 28 cm is melted and

recast into a number of
smaller cones, each of diameter 
cm

and
height 3 cm. Find the number of cones so formed.

Watch Video Solution

4
2

3

312. The
 diameter of a copper sphere is 18 cm. The sphere is

melted and is drawn into
 a long wire of uniform circular cross-

section. If the length of the wire is
108 m, find its diameter.

Watch Video Solution

313. A hemisphere of lead of radius 7 cm is cast into a
 right

circular cone of height 49cm. Find the radius of the base.

Watch Video Solution

https://dl.doubtnut.com/l/_LS6gD9DJvOGL
https://dl.doubtnut.com/l/_KLh250ANEGgN
https://dl.doubtnut.com/l/_PEVwz73sk2Js


314. A metallic
sphere of radius 10.5 cm is melted and recast into

small right circular
cones, each of base radius 3.5 cm and height

3 cm. The number of cones so formed
is
(a) 105 (b) 113 (c) 126 (d)

135

Watch Video Solution

315. A cone, a hemisphere and a cylinder stand on equal
 bases

and have the same height. Show that their volumes are in the

ratio
1:2:3.

Watch Video Solution

316. A metallic spherical shell of internal and external diameters

4 cm and 8 cm respectively is melted and recast into the form a

cone of base diameter 8 cm. Find the height of the cone.

https://dl.doubtnut.com/l/_YaAyOgIkf7sy
https://dl.doubtnut.com/l/_kBZrMhp88DIh
https://dl.doubtnut.com/l/_Q63WqFf7TADG


Watch Video Solution

317. The larges sphere is carved out of a cube of side
 10.5 cm.

Find the volume of the sphere.

Watch Video Solution

318. Find the
weight of a hollow sphere of metal having internal

and external diameters as
20 cm and 22 cm, respectively if 

of metal
weighs 21 g.

Watch Video Solution

1 cm3

319. A solid
 sphere of radius 
 is melted
 and recast into a

hollow cylinder of uniform thickness. If the external
radius of the

' r'

https://dl.doubtnut.com/l/_Q63WqFf7TADG
https://dl.doubtnut.com/l/_MBwv6nrYCQLh
https://dl.doubtnut.com/l/_WM73GZE9WTfQ
https://dl.doubtnut.com/l/_YyderhrfiPnT


base of the cylinder is 4 cm, its height 24 cm and thickness 2
cm,

find the value of 
.

Watch Video Solution

' r'

320. Lead
 spheres of diameter 6 cm are dropped into a

cylindrical beaker containing
 some water and are fully

submerged. If the diameter of the beaker is 18 cm
 and water

rises by 40 cm. Find the number of lead spheres dropped in the

water.

Watch Video Solution

321. The height
of a solid cylinder is 15 cm and the diameter of its

base is 7 cm. Two equal
 conical holes each of radius 3 cm and

height 4 cm are cut off. Find the
volume of the remaining solid.

https://dl.doubtnut.com/l/_YyderhrfiPnT
https://dl.doubtnut.com/l/_zUDmeaXpHwbn
https://dl.doubtnut.com/l/_6ceccwWkI7co


Watch Video Solution

322. The solid is composed of a cylinder with hemispherical ends.

If the
whole length of the solid is 108cm and the diameter of the

hemispherical ends
 is 36cm, find the cost of polishing the

surface of the solid at the rate of 7
 paise per sq. cm

Watch Video Solution

(Useπ = )
22

7

323. The surface
 area of a sphere is the same as the curved

surface area of a cone having the
 radius of the base as 120 cm

and height 160 cm. Find the radius of the
sphere.

Watch Video Solution

https://dl.doubtnut.com/l/_6ceccwWkI7co
https://dl.doubtnut.com/l/_gg1iQenTthqJ
https://dl.doubtnut.com/l/_dg6Wv6Y05tLj


324. A cylinder and a cone have equal radii of their
 bases and

equal heights. If their curved surface
 areas are in the ratio 8:5,

show that the radius of each is to the height of
each as 3:4.

Watch Video Solution

325. A rectangular
vessel of dimensions 
 .

is full
of water. This water is poured into a conical vessel. The top

of the conical
vessel has its radius 10 cm. If the conical vessel is

filled completely,
determine its height. [Use 
]

Watch Video Solution

20cm × 16cm × 11cm

π = 22/7

326. If 
and 
be the
radii of two solid metallic spheres and if

they are melted into one solid
 sphere, prove that the radius of

the new sphere is 

r1 r2

(r13 + r23)
1 / 3

https://dl.doubtnut.com/l/_s5y0kO6yj4CU
https://dl.doubtnut.com/l/_FhMl7fTisg22
https://dl.doubtnut.com/l/_yqcNYMOrUUZa


Watch Video Solution

327. A solid
 metal sphere of 6 cm diameter is melted and a

circular sheet of thickness 1
 cm is prepared. Determine the

diameter of the sheet.

Watch Video Solution

328. A hemispherical tank full of water is emptied by a pipe at

the rate of litres per second. How much time will it take to

empty half the tank, if it is 3m in diameter?

Watch Video Solution

25

7

https://dl.doubtnut.com/l/_yqcNYMOrUUZa
https://dl.doubtnut.com/l/_aMcnwopdAaNG
https://dl.doubtnut.com/l/_Fq3pFbPT9NUY


329. Find the
 number of coins 1.5 cm in diameter and 0.2 cm

thick, to be melted to form a
right circular cylinder of height 10

cm and diameter 4.5 cm.
(a) 430 (b) 440 (c) 450 (d) 460

Watch Video Solution

330. An iron pillar consists of a cylindrical portion of .

height and . in diameter cone of . height surmounting

it. Find the weight of the pillar if  of iron weights .

Watch Video Solution

2.8m

20cm 42cm

1cm3 7.5g

331. A circus tent is cylindrical to a height of 3
metres and conical

above it. If its diameter is 105m and the slant height of
 the

conical portion is 53m, calculate the length of the canvas 5m

wide to
make the required tent.

https://dl.doubtnut.com/l/_TDuM1p6yXhqS
https://dl.doubtnut.com/l/_t36RgXsXEKBC
https://dl.doubtnut.com/l/_QNAoDZjTkqCA


Watch Video Solution

332. Height of a
 solid cylinder is 10 cm and diameter 8 cm. Two

equal conical hole have been
 made from its both ends. If the

diameter of the holes is 6 cm and height 4
cm, find (i) volume of

the cylinder,  
 (ii) volume of one conical hole,  
 (iii) volume of the

remaining solid.

Watch Video Solution

333. The height
of a solid cylinder is 15 cm. and the diameter of

its base is 7 cm. Two equal
conical holes each of radius 3 cm, and

height 4 cm are cut off. Find the
volume of the remaining solid.

Watch Video Solution

https://dl.doubtnut.com/l/_QNAoDZjTkqCA
https://dl.doubtnut.com/l/_DJpSVazPkblf
https://dl.doubtnut.com/l/_9U4BGSqOuRSz
https://dl.doubtnut.com/l/_ZxZT2Auad8sO


334. The solid is composed of a cylinder with hemispherical ends.

If the
whole length of the solid is 108cm and the diameter of the

hemispherical ends
 is 36cm, find the cost of polishing the

surface of the solid at the rate of 7
 paise per sq. cm

Watch Video Solution

(Useπ = )
22

7

335. The largest
 sphere is to be curved out of a right circular

cylinder of radius 7 cm and
height 14 cm. Find the volume of the

sphere.

Watch Video Solution

336. A tent is in the form of a right circular cylinder
surmounted

by a cone. The diameter of cylinder is 24m. The height of the

https://dl.doubtnut.com/l/_ZxZT2Auad8sO
https://dl.doubtnut.com/l/_KqvDkdyIJkOO
https://dl.doubtnut.com/l/_tgwgRRYBirxo


cylindrical portion is 11m while the vertex of the cone is 16m

above the
 ground. Find the area of the canvas required for the

tent.

Watch Video Solution

337. A toy is in
the form of a cone mounted on a hemisphere of

radius 3.5 cm. The total height
of the toy is 15.5 cm find the total

surface area and volume of the toy.

Watch Video Solution

338. A
 cylindrical container is filled with ice-cream, whose

diameter is 12 cm and
 height is 15 cm. The whole ice-cream is

distributed to 10 children in equal
 cones having hemispherical

https://dl.doubtnut.com/l/_tgwgRRYBirxo
https://dl.doubtnut.com/l/_Oz4D4AmH0dEu
https://dl.doubtnut.com/l/_em5sNOfGfuk8


tops. If the height of the conical portion is twice
the diameter of

its base, find the diameter of the ice-cream.

Watch Video Solution

339. Find the
 volume of a solid in the form of a right circular

cylinder with
 hemi-spherical ends whose total length is 2.7 m

and the diameter of each hemi-spherical
end is 0.7 m.

Watch Video Solution

340. A tent of
 height 8.25 m is in the form of a right circular

cylinder with diameter of
 base 30 m and height 5.5 m,

surmounted by a right circular cone of the same
 base. Find the

cost of the canvas of the tent at the rate of Rs 
.

Watch Video Solution

45 per m2

https://dl.doubtnut.com/l/_em5sNOfGfuk8
https://dl.doubtnut.com/l/_H0bFZIOaiARc
https://dl.doubtnut.com/l/_gEPM8wVef1Hy


341. An iron
pole consisting of a cylindrical portion 110 cm high

and of base diameter 12
cm is surmounted by a cone 9 cm high.

Find the mass of the pole, given that 
 of iron has
 8 gram

mass approximately. (Use 
)

Watch Video Solution

1 cm3

π = 355/115

342. The
interior of a building is in the form of a cylinder of base

radius 12 m and
 height 3.5 m, surmounted by a cone of equal

base and slant height 12.5 m.
 Find the internal curved surface

area and the capacity of the building.

Watch Video Solution

https://dl.doubtnut.com/l/_gEPM8wVef1Hy
https://dl.doubtnut.com/l/_sQ4nRib9cNbC
https://dl.doubtnut.com/l/_XwoKXPQsjH5s


343. A Right triangle whose sides are 15 cm and 20 cm; is made

to revolve about its hypotenuse. Find the volume and surface

area of the double cone so formed.

Watch Video Solution

344. A toy is in
 the form of a cone mounted on a hemisphere

with the same radius. The diameter
 of the base of the conical

portion is 6 cm and its height is 4 cm. Determine
 the surface

area of the toy (Use 
)

Watch Video Solution

π = 3. 14

345. Find the
 mass of a 3.5 m long lead pipe, if the external

diameter of the pipe is 2.4
 cm, thickness of the metal is 2 mm

and the mass of 
of lead is
11.4 grams.1 cm3

https://dl.doubtnut.com/l/_of1Zruheczxs
https://dl.doubtnut.com/l/_dzzG7zmvCCsi
https://dl.doubtnut.com/l/_nC57EkJlC11g


Watch Video Solution

346. A solid is
 in the form of a cylinder with hemispherical ends.

Total height of the solid
 is 19 cm and the diameter of the

cylinder is 7 cm. Find the volume and total
 surface area of the

solid.

Watch Video Solution

347. The radii
of the ends of a bucket of height 24 cm are 15 cm

and 5 cm. Find its
capacity. (Take 
)

Watch Video Solution

π = 22/7

https://dl.doubtnut.com/l/_nC57EkJlC11g
https://dl.doubtnut.com/l/_TnNJAeeIbaIT
https://dl.doubtnut.com/l/_Itd14dqgokLo


348. The radii
of the ends of a bucket 30 cm high are 21 cm and 7

cm. Find its capacity in
 litres and the amount of sheet required

to make this bucket.

Watch Video Solution

349. The radii
 of the ends of a frustum of a right circular cone

are 5 metres and 8 metres
and its lateral height is 5 metres. Find

the lateral surface and volume of
the frustum.

Watch Video Solution

350. A frustum
 of a cone is 9 cm thick and the diameters of its

circular ends are 28 cm and
 4 cm. Find the volume and lateral

surface area of the frustum. (Take 
)

W t h Vid S l ti

π = 22/7

https://dl.doubtnut.com/l/_2a5FjlIpVwxh
https://dl.doubtnut.com/l/_Q6NKWwSAKrYM
https://dl.doubtnut.com/l/_G8zb0jUM1Og2


Watch Video Solution

351. A tent is of the shape of a right circular
 cylinder upto a

height of 3 metres and then becomes
a right circular cone with a

maximum height of 13.5 metres above the ground.
 Calculate the

cost of paintingthe inner side of the
tent at the rate of Rs. 2 per

square metre, if the radius of the base is 14
metres.

Watch Video Solution

352. An oil funnel made of tin sheet consists of a 10 cm long

cylindrical portion attached to a frustum of a cone. If the total

height is 22 cm; diameter of the cylindrical portion is 8 cm and

the diameter of the top of the funnel is 18 cm; find the area of

the tin sheet required to make the funnel.

Watch Video Solution

https://dl.doubtnut.com/l/_G8zb0jUM1Og2
https://dl.doubtnut.com/l/_liCaV1E9EPup
https://dl.doubtnut.com/l/_n6Q5SedIBwNw


353. A container is in the form of a frustum of a cone of height

30 cm with radii of its lower and upper ends as 10 cm and 20 cm

respectively. Find the capacity and surface area of the container.

Also, find the cost of milk which can completely fill the container

at the rate of Rs 25 per litre.[Take ]

Watch Video Solution

π = 3.14

354. The radii of
 the bases of a cylinder and a cone are in the

ratio of 3:4 and their heights
are in the ratio 2 : 3. Find the ratio

of their volumes.

Watch Video Solution

https://dl.doubtnut.com/l/_n6Q5SedIBwNw
https://dl.doubtnut.com/l/_uf7YI2i0zEbX
https://dl.doubtnut.com/l/_TYTfhYVoaV2c


355. The heights of
two right circular cones are in the ratio 1 : 2

and the perimeters of their
bases are in the ratio 3 : 4. Find the

ratio of their volumes.

Watch Video Solution

356. A cone and a
 sphere have equal radii and equal volumes.

Find the ratio of the diameter of
the sphere to the height of the

cone.

Watch Video Solution

357. A cone, a hemisphere and a cylinder stand on equal
 bases

and have the same height. Show that their volumes are in the

ratio
1:2:3.

W t h Vid S l ti

https://dl.doubtnut.com/l/_jDGJFdPpRMfS
https://dl.doubtnut.com/l/_NAC0UWQXNcWw
https://dl.doubtnut.com/l/_736OgYAqElE4


Watch Video Solution

358. The radii of two cylinders are in the ratio 2:3 and their

heights are in the ratio 5:3. Calculate the ratio of their curved

surface areas.

Watch Video Solution

359. Two cubes have
 their volumes in the ratio 1 : 27. Find the

ratio of their surface areas.

Watch Video Solution

360. Two
circular cylinders of equal volumes have their heights in

the ratio 1:2. Find
the ratio of their radii.

Watch Video Solution

https://dl.doubtnut.com/l/_736OgYAqElE4
https://dl.doubtnut.com/l/_sSVs4HenmV5s
https://dl.doubtnut.com/l/_bYAkwwEuoPSH
https://dl.doubtnut.com/l/_zgpL1fV1wJkT


361. If the volumes of two cones are in the ratio 1:4
 and their

diameters are in the ratio 4:5, then the ratio of their heights, is

(a) 1:5 (b)
5:4 (c) 5:16
(d) 25:64

Watch Video Solution

362. A sphere and a cube have the same surface. Show that the

ratio of the volume of the sphereto that of the cube is .

Watch Video Solution

√6: √π

363. Determine the ratio of the volume of a cube to that of a

sphere which will exactly fit inside the cube.

Watch Video Solution

https://dl.doubtnut.com/l/_zgpL1fV1wJkT
https://dl.doubtnut.com/l/_HZCzNITtSo31
https://dl.doubtnut.com/l/_q8BTeEPbTvHk
https://dl.doubtnut.com/l/_xXHgZcvc0n6Z


364. In what ratio
 are the volumes of a cylinder, a cone and a

sphere, if each has the same
diameter and the same height?
(a) 1

: 3 :
2 (b) 2 : 3 : 1 (c) 3 : 1 : 2 (d) 3 : 2 : 1

Watch Video Solution

365. A sphere of
 maximum volume is cut out from a solid

hemisphere of radius 
 . The ratio of
 the volume of the

hemisphere to that of the cut out sphere is:
(a) 3 : 2 (b) 4 : 1 (c) 4

: 3 (d) 7 : 4

Watch Video Solution

r

366. A right
circular cone and a right circular cylinder have equal

base and equal height.
 If the radius of the base and the height

https://dl.doubtnut.com/l/_xXHgZcvc0n6Z
https://dl.doubtnut.com/l/_mVZzYfOsApDm
https://dl.doubtnut.com/l/_XE0GsQwGNIMY
https://dl.doubtnut.com/l/_U12HDSQyF4I1


are in the ratio 5 : 12, then the
ratio of the total surface area of

the cylinder to that of the cone is
(a) 3 : 1 (b) 13 : 9 (c) 17 : 9 (d) 34

: 9

Watch Video Solution

367. A cone, a hemisphere and a cylinder stand on equal
 bases

and have the same height. Show that their volumes are in the

ratio
1:2:3.

Watch Video Solution

368. The radii of
two cones are in the ratio 2 : 1, their volumes are

equal. Find the ratio of
their heights.
(a) 1 : 8 (b) 1 : 4 (c) 2 : 1 (d) 4

: 1

Watch Video Solution

https://dl.doubtnut.com/l/_U12HDSQyF4I1
https://dl.doubtnut.com/l/_95HaocMlUWAJ
https://dl.doubtnut.com/l/_Okzn2EuRvmVh


369. Two cones have their heights in the ratio 1:3 and
the radii of

their bases in the ratio 3:1. Find the ratio of their volumes.

Watch Video Solution

370. A hemisphere
and a cone have equal bases. If their heights

are also equal, then the ratio
of their curved surfaces will be
(a) 1

: 2 (b) 2 : 1 (c) 
(d) 

Watch Video Solution

1  : √2 √2 : 1

371. If 
 and 
 denote the
 radii of the circular bases of the

frustum of a cone such that 
, then write
the ratio of the

height of the cone of which the frustum is a part to the
height

of the frustum.

r1 r2

r1 > r2

https://dl.doubtnut.com/l/_Okzn2EuRvmVh
https://dl.doubtnut.com/l/_BM3smCb6i3Um
https://dl.doubtnut.com/l/_y3onZnN5RsEV
https://dl.doubtnut.com/l/_KJBDZ2d5zWdp


Watch Video Solution

372. If the
slant height of the frustum of a cone is 6 cm and the

perimeters of its
circular bases are 24 cm and 12 cm respectively.

What is the curved surface
area of the frustum?

Watch Video Solution

373. If the
 areas of circular bases of a frustum of a cone are


and 
respectively
and the height of the frustum is 12

cm. What is the volume of the frustum?

Watch Video Solution

4 cm2 9 cm2

374. The surface
area of a sphere is 
. Find its
radius.616 cm2

https://dl.doubtnut.com/l/_KJBDZ2d5zWdp
https://dl.doubtnut.com/l/_MnXoRptWvXU0
https://dl.doubtnut.com/l/_PJE4Gr2SyHmp
https://dl.doubtnut.com/l/_qMZfh1uNrn7p


Watch Video Solution

375. A cylinder
 and a cone are of the same base radius and of

same height. Find the ratio of
the volume of the cylinder to that

of the cone.

Watch Video Solution

376. The slant
 height of the frustum of a cone is 5 cm. If the

difference between the radii
 of its two circular ends is 4 cm,

write the height of the frustum.

Watch Video Solution

377. Conversion of Sphere into cylinder : The diameter of metallic

sphere is 6 cm. It is melted and drawn into a wire having

https://dl.doubtnut.com/l/_qMZfh1uNrn7p
https://dl.doubtnut.com/l/_Ou7fRu2ekmPd
https://dl.doubtnut.com/l/_rxmmKHyKwKr4
https://dl.doubtnut.com/l/_49WqvZw22enG


diameter of the cross section as 0.2 cm. Find the length of the

wire.

Watch Video Solution

378. A metallic
sphere of radius 10.5 cm is melted and recast into

small right circular
cones, each of base radius 3.5 cm and height

3 cm. The number of cones so formed
is
(a) 105 (b) 113 (c) 126 (d)

135

Watch Video Solution

379. A solid is
hemispherical at the bottom and conical above. If

the surface areas of the
two parts are equal, then the ratio of its

radius and the height of its
conical part is
(a) 
 (b) 
 (c) 


(d) 

1  : 3 1  : √3

1 : 1 √3 : 1

https://dl.doubtnut.com/l/_49WqvZw22enG
https://dl.doubtnut.com/l/_g6tvZPa3A0cC
https://dl.doubtnut.com/l/_RsiBt5njX9O8


Watch Video Solution

380. A solid
sphere of radius 
is melted
and cast into the shape

of a solid cone of height 
, the
radius of the base of the cone is

(a) 
(b) 
(c) 
(d) 

Watch Video Solution

r

r

2r 3r r 4r

381. The
 material of a cone is converted into the shape of a

cylinder of equal radius.
 If height of the cylinder is 5 cm, then

height of the cone is
(a) 10
cm        (b) 15 cm     (c) 18 cm       (d) 24

cm

Watch Video Solution

https://dl.doubtnut.com/l/_RsiBt5njX9O8
https://dl.doubtnut.com/l/_i3j26hTVzLbi
https://dl.doubtnut.com/l/_rAVqLl34Tj2i


382. A circus
 tent is cylindrical to a height of 4 m and conical

above it. If its diameter
is 105 m and its slant height is 40 m, the

total area of the canvas required
 in 
 is
 (a)
 1760 (b) 2640 (c)

3960 (d) 7920

Watch Video Solution

m2

383. The number
 of solid spheres, each of diameter 6 cm that

could be moulded to form a solid
metal cylinder of height 45 cm

and diameter 4 cm, is

A. (a) 3 

B. (b) 4  

C. (c) 5

D. (d) 6

https://dl.doubtnut.com/l/_9Zs4009GiJxH
https://dl.doubtnut.com/l/_54USPSRFHKMH


Answer: null

Watch Video Solution

384. A sphere of
radius 6 cm is dropped into a cylindrical vessel

partly filled with water.
 The radius of the vessel is 8 cm. If the

sphere is submerged completely, then
 the surface of the water

rises by

A. (a) 4.5
cm 

B. (b) 3 cm  

C. (c) 4 cm

D. (d) 2 cm

Answer: null

Watch Video Solution

https://dl.doubtnut.com/l/_54USPSRFHKMH
https://dl.doubtnut.com/l/_QPtAbnmmEClH


385. If the
radii of the circular ends of a bucket of height 40 cm

are of lengths 35 cm
and 14 cm, then the volume of the bucket in

cubic centimeters, is
 (a)
60060                 (b) 80080             (c) 70040     

      (d) 80160

Watch Video Solution

386. If a cone is cut into two parts by a horizontal
plane passing

through the mid-point of its axis, the ratio of the volumes of

upper and lower part is
(a) 1:2 (b)
2:1 (c) 1:7
(d) 1:8

Watch Video Solution

387. The height of a cone is 40 cm. A small cone is cut off at the

top by a plane parallel to its base. If the volume of a small cone

https://dl.doubtnut.com/l/_QPtAbnmmEClH
https://dl.doubtnut.com/l/_RWugjp8nGvRd
https://dl.doubtnut.com/l/_bxP5hljjki7M
https://dl.doubtnut.com/l/_sY04PiK05SoK


is  of the volume of the given cone, at what height above the

base is the section made?

Watch Video Solution

1

64

388. A solid
 consists of a circular cylinder with an exact fitting

right circular cone
placed at the top. The height of the cone is 
.

If the
total volume of the solid is 3 times the volume of the cone,

then the height
 of the circular cylinder is
 (a) 
 (b) 
 (c) 

(d) 

Watch Video Solution

h

2h
2h

3

3h
2

4h

389. A reservoir
 is in the shape of a frustum of a right circular

cone. It is 8 m across at
the top and 4 m across at the bottom. If

https://dl.doubtnut.com/l/_sY04PiK05SoK
https://dl.doubtnut.com/l/_7YuWIvoyOm8E
https://dl.doubtnut.com/l/_Wtz8NxiIckJh


it is 6 m deep, then its capacity is
 (a) 
 (b) 
 (c) 


(d) 

Watch Video Solution

176 m3 196 m3

200 m3 110 m3

390. Water flows at the rate of 10 meter per minute through a

cylindrical pipe having diameter as 5 mm. How much time will it

take to fill a conical vessel whose diameter of base is 40 cm and

depth 24 cm?

Watch Video Solution

391. A cylindrical bucket, 32 cm high and with radius of
 base 18

cm, is filled with sand. This bucket is emptied on the ground and

a
 conical heap of sand is formed. If the height of the conical

heap is 24 cm,
find the radius and slant height of the heap.

https://dl.doubtnut.com/l/_Wtz8NxiIckJh
https://dl.doubtnut.com/l/_tWk4bLmpENR1
https://dl.doubtnut.com/l/_9YRpx7j9vUwr


Watch Video Solution

392. The curved
 surface of a right circular cone of height 15 cm

and base diameter 16 cm is


(a) 



(b) 



(c) 



(d) 

Watch Video Solution

60π cm2

68π cm2

120π cm2

136π cm2

393. A right
 triangle with sides 3 cm, 4 cm and 5 cm is rotated

about the side of 3 cm to
form a cone. The volume of the cone so

formed is
(a) 
(b) 
(c) 
(d) 

Watch Video Solution

12π cm3 15π cm3 16π cm3 20π cm3

https://dl.doubtnut.com/l/_9YRpx7j9vUwr
https://dl.doubtnut.com/l/_M849C9V5TWyO
https://dl.doubtnut.com/l/_Fo3dVXzPzEbF
https://dl.doubtnut.com/l/_t3iHuJIgVPDZ


394. The curved
surface area of a cylindrical pillar is  and

its volume is
 . Find the ratio of its diameter to its height.

A. (a) 3 : 7

B. (b) 7 : 3

C. (c) 6 : 7

D. (d) 7 : 6

Answer: null

Watch Video Solution

264m2

924m3

395. A cylinder
 with base radius of 8 cm and height of 2 cm is

melted to form a cone of
height 6 cm. The radius of the cone is


(a) 4
cm        

(b) 5 cm       

https://dl.doubtnut.com/l/_t3iHuJIgVPDZ
https://dl.doubtnut.com/l/_LXHDS3U8wsw0


(c) 6 cm        

(d) 8 cm

Watch Video Solution

396. The volumes of
 two spheres are in the ratio of 64 : 27. The

ratio of their surface areas is
(a) 1 : 2 (b) 2 : 3 (c) 9 : 16 (d) 16 : 9

Watch Video Solution

397. If three
 metallic spheres of radii 6 cm, 8 cm and 10 cm are

melted to form a single
sphere, the diameter of the sphere is


(a) 12
cm    

(b) 24 cm    

(c) 30 cm     

(d) 36 cm

https://dl.doubtnut.com/l/_LXHDS3U8wsw0
https://dl.doubtnut.com/l/_ejQMqGxe8yci
https://dl.doubtnut.com/l/_DdtFRFSiDdaG


Watch Video Solution

398. The surface
area of a sphere is same as the curved surface

area of a right circular
 cylinder whose height and diameter are

12 cm each. The radius of the sphere
is
(a) 3 cm (b) 4 cm (c) 6 cm

(d) 12 cm

Watch Video Solution

399. The volume of
the greatest sphere that can be cut off from

a cylindrical log of wood of
base radius 1 cm and height 5 cm is

(a) 
(b) 
(c) 
(d) 

Watch Video Solution

π
4
3

π
10

3
5π π

20

3

https://dl.doubtnut.com/l/_DdtFRFSiDdaG
https://dl.doubtnut.com/l/_z99d96UBlqxM
https://dl.doubtnut.com/l/_4fB8yjlId79k


400. A cylindrical
 vessel of radius 4 cm contains water. A solid

sphere of radius 3 cm is
 lowered into the water until it is

completely immersed. The water level in
 the vessel will rise by:


(b) 
(c) 
(d) 

Watch Video Solution

cm
2

9
cm

4
9

cm
9

4
cm

9

2

401. 12 spheres of
 the same size are made from melting a solid

cylinder of 16 cm diameter and 2
cm height. The diameter of each

sphere is
(a) 
(b) 
(c) 3 cm (d) 4 cm

Watch Video Solution

√3cm 2 cm

402. A solid
 metallic spherical ball of diameter 6 cm is melted

and recast into a cone
 with diameter of the base as 12 cm. The

https://dl.doubtnut.com/l/_HRku8CoNkMJW
https://dl.doubtnut.com/l/_Ca4ScpkqpQLb
https://dl.doubtnut.com/l/_IoP3fmxil7x4


height of the cone is
(a) 2
cm       (b) 3 cm       (c) 4 cm        (d) 6

cm

Watch Video Solution

403. A hollow
 sphere of internal and external diameters 4 cm

and 8 cm respectively is
 melted into a cone of base diameter 8

cm. The height of the cone is
(a) 12
cm    (b) 14 cm     (c) 15 cm     

(d) 18 cm

Watch Video Solution

404. A solid piece
 of iron of dimensions 
 cm is

moulded
into a sphere. The radius of the sphere is
 (a) 21 cm (b)

28 cm (c) 35 cm (d) None of these

Watch Video Solution

49 × 33 × 24

https://dl.doubtnut.com/l/_IoP3fmxil7x4
https://dl.doubtnut.com/l/_6D6JBAW9pnra
https://dl.doubtnut.com/l/_15rJpxOMUGz8


405. The ratio
of lateral surface area to the total surface area of

a cylinder with base
diameter 1.6 m and height 20 cm is
 (a) 

(b) 
(c) 
(d) 

Watch Video Solution

1  : 7

1  : 5 7  : 1 5  : 1

406. A solid
 consists of a circular cylinder with an exact fitting

right circular cone
placed at the top. The height of the cone is 
.

If the
total volume of the solid is 3 times the volume of the cone,

then the height
 of the circular cylinder is
 
 (b) 
 (c) 
 (d) 

Watch Video Solution

h

2h
2h

3

3h
2

4h

https://dl.doubtnut.com/l/_15rJpxOMUGz8
https://dl.doubtnut.com/l/_kN8WQn9o50rS
https://dl.doubtnut.com/l/_6I1XLUrup2jP


407. Find the maximum volume of a cone that can be carved out

of a solid
hemisphere of radius r.

Watch Video Solution

408. The radii of
the bases of two cylinders are in the ratio 3 : 5

and their heights are in
 the ratio 2 : 3. Find the ratio of their

curved surface areas.

Watch Video Solution

409. A right
 circular cylinder of radius 
 and height 

just
encloses a sphere of diameter
(a) 
(b) 
(c) 
(d) 

Watch Video Solution

r h (h > 2r)

h r 2r 2h

https://dl.doubtnut.com/l/_6oqg3mwsKFDQ
https://dl.doubtnut.com/l/_eiyoyoDLKCx4
https://dl.doubtnut.com/l/_YOe9WfyPhbpM
https://dl.doubtnut.com/l/_JzVkGezw1Eeu


410. The radii
of the circular ends of a frustum are 6 cm and 14

cm. If its slant height is
10 cm, then its vertical height is


(a) 6
cm       

(b) 8 cm     

(c) 4 cm      

(d) 7 cm

Watch Video Solution

411. The height
and radius of the cone of which the frustum is a

part are 
and 
respectively.
 If 
and 
are the
heights and

radius of the smaller base of the frustum respectively and


 , then 
 is equal to
(a) 
 (b) 
 (c) 

(d) 

Watch Video Solution

h1 r1 h2 r2

h2  : h1 = 1 : 2 r2  : r1 1  : 3 1  : 2 2  : 1

3  : 1

https://dl.doubtnut.com/l/_JzVkGezw1Eeu
https://dl.doubtnut.com/l/_JSH0zIjTH6IC
https://dl.doubtnut.com/l/_1o2jS6jXzhc8


412. The
diameters of the ends of a frustum of a cone are 32 cm

and 20 cm. If its
 slant height is 10 cm, then its lateral surface

area is


(a) 



(b) 



(c) 



(d) 

Watch Video Solution

321πcm2

300πcm2

260πcm2

250πcm2

413. A solid
frustum is of height 8 cm. If the radii of its lower and

upper ends are 3 cm and
9 cm respectively, then its slant height

is


(a) 15
cm         

(b) 12 cm        

https://dl.doubtnut.com/l/_1o2jS6jXzhc8
https://dl.doubtnut.com/l/_z5Tx1u9FcPCU


(c) 10 cm         

(d) 17 cm

Watch Video Solution

414. The radii
of the ends of a bucket 16 cm high are 20 cm and 8

cm. The curved surface
 area of the bucket is
 
 (b) 


(c) 
(d) 

Watch Video Solution

1760 cm2

2240 cm2 880 cm2 3120 cm2

415. The diameters of the top and the bottom portions of a

bucket are  and  If the height of the bucket is 

then find the cost of painting its outer surface at the rate of 5

paise / .

Watch Video Solution

42cm 28cm. 24cm,

cm2

https://dl.doubtnut.com/l/_z5Tx1u9FcPCU
https://dl.doubtnut.com/l/_7XHmSyakAfnC
https://dl.doubtnut.com/l/_N46z1pwVxr2y


416. If four
times the sum of the areas of two circular faces of a

cylinder of height 8 cm
 is equal to twice the curve surface area,

then diameter of the cylinder is
(a) 4
cm     (b) 8 cm     (c) 2 cm     

(d) 6 cm

Watch Video Solution

417. If the radius of the base of a right circular
cylinder is halved,

keeping the height same, what is the ratio of the volume
of the

reduce cylinder to that of the original.

Watch Video Solution

418. A metallic
 solid cone is melted to form a solid cylinder of

equal radius. If the height
of the cylinder is 6 cm, then the height

https://dl.doubtnut.com/l/_N46z1pwVxr2y
https://dl.doubtnut.com/l/_41lKCQhEou3s
https://dl.doubtnut.com/l/_M8kh2iGv5zOm
https://dl.doubtnut.com/l/_oZWmu39dVtMQ


of the cone was
(a) 10
cm         (b) 12 cm         (c) 18 cm         (d) 24

cm

Watch Video Solution

419. A
 rectangular sheet of paper 
 , is rolled
 to

form a hollow cylinder of height 40 cm. The radius of the

cylinder (in cm)
is
(a)
3.5 (b) 7 (c) 
(d) 5

Watch Video Solution

40cm × 22cm

80/7

420. The number
 of solid spheres, each of diameter 6 cm that

can be made by melting a solid
 metal cylinder of height 45 cm

and diameter 4 cm is
(a) 3         (b) 5            (c) 4            (d) 6

Watch Video Solution

https://dl.doubtnut.com/l/_oZWmu39dVtMQ
https://dl.doubtnut.com/l/_lw7bJ8IWWT7x
https://dl.doubtnut.com/l/_oyAl8oDMSIVv



